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Question Number : 1 Question Id : 54592740805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following letter series:

D,H,M,5, 72,
Options:

1. = F
2.% G
3.vH
4, =]

Question Number : 1 Question Id : 54592740805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT |

D, H M, S, Z,

Options:

1. = F
2. = (3
3. v H

4, = |

Question Number : 2 Question Id : 54592740806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing term in the following series:

R3E, T5H, V8K,

Options:

1. » W12M
2. » X11N
3. v X12N
4. = X11M

Question Number : 2 Question Id : 54592740806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAefaTaT garer A It e AT L

R3E, TSH, V&K,

Options:

1. = W12M
2. = XT1N
3. v X12N
4. = X11M

Question Number : 3 Question Id : 54592740807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. v Carpenter : Saw
2. » Producer : Film
3. = Author : Book



4, = Dramatist : Play

Question Number : 3 Question Id : 54592740807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a7 [Oefedl A 4, did U ead dileh 8 AT &

&Tollloh, Ueh Tdhed e dlel T dig olel &l 3T Aeq &
el L ST AT T 37T &1

1#6%%‘311?[
2. = AT : Thed

3. % ol : TETh

4, & oAlchahlL : dlceh

Question Number : 4 Question Id : 54592740808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = ELS
2. = HOV
3. v JQV
4. = LSZ

Question Number : 4 Question Id : 54592740808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fow a7 [Oefedl A 4, did U ead dileh 8 AT &

&Tollieh, TUeh Tdehed 3T dlel hT @ olal &l 39 Thed &
TTeT Y ST AT T 3Tl &1

Options:




1. = ELS
2. » HOV
3. v JQv
4, « LSZ

Question Number : 5 Question Id : 54592740809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Duck : Drake :: Bee : ?

Options:

1. v Drone
2. * Mare

3. = Heifer
4. = Vixen

Question Number : 5 Question Id : 54592740809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 [@Fhed T TIT Y of Y U5 8 34T VbR & Jaiad &
o 9 & Ygel U5 g UT H FEEAd g

S AFET ; AYAFET 1 7

Options:

1. v 2
2. = ©IgT
3. = g
4. = NS



Question Number : 6 Question Id : 54592740810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

KRW : MTY :: FJP : ?
Options:

1. = EKS
2. » GMS
3. v HLR
4. = FNT

Question Number : 6 Question Id : 54592740810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T T HT SF dER U O 39T ThR 8 §979d &
fore 9T & ugelr Ug gEy ug & Hefdd g

KRW : MTY = FJP : ?

Options:

1. » EKS
2. » GMS
3. v HLR
4. = FNT

Question Number : 7 Question Id : 54592740811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If MASON is coded as JXPLK, then what is the code for RUSTY?

Options:

1. » SQTVM
2. » PRSTW



3. v ORPQV
4. = NQOSW

Question Number : 7 Question Id : 54592740811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg MASON =T JXPLK & &9 # RIfsd TRar Sar &, ar
RUSTY & Tolw &Ig &7 87

Options:

1. = SQTVM
2. » PRSTW
3. v ORPQV
4. = NQOSW

Question Number : 8 Question Id : 54592740812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aakriti, Prachi, Sanya, Damini and Rashi are sitting in a row.
Sanya i1s between Damini and Aakriti, Rashi is neither at the
end, nor next to Damini and is to the left of Prachi who is last.
Who is to the right of Damini?

Options:

1. v Sanya
2. » Rashi
3. = Aakriti
4. = Prachi

Question Number : 8 Question Id : 54592740812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3TpTcT, W=, AT, aTfdsr 3 el v gfed # &1 g
|eT, AT 3 3R & &< &, Wil o o o W §, o &
SIfAeT o F9rel & & 3T U=y & 10 3T § S 3T H T
SIfAAT & gIfgsT aTE hid g7

Options:

1. v HiAT
2. % Trefm
3. % 3R

L

4. = YT

Question Number : 9 Question Id : 54592740813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X sald to Y, "You are my son's wife's father-in-law.” How is Y
related to X?

Options:

1. # Y is the brother-in-law of X
2. » Y is the father of X

3. = Yisthewife of X

4. v Y is the husband of X

Question Number : 9 Question Id : 54592740813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X @Y @ her, "3 A d9¢ T dooll o agT B Y, X § H4

1. % Y, X T SATelT &
2.« Y, X T Mar &l
S.WY,XEﬁrqﬁﬁﬁ'l




4. v Y, X &T 90 &

Question Number : 10 Question Id : 54592740814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A statement is followed by two arguments. Decide which of
the arguments is/are strong with respect to the statement.

Statement:
Should sale of vital human organs be made legal in India?

Arguments:

I. No, this will lead to unhealthy practices.

II. Yes, this will bring an end to the illegal trading of human
organs.

Options:

1. v Both I and II are strong
2. = Only Il is strong
3. = Only I is strong
4. » None are strong

Question Number : 10 Question Id : 54592740814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ush el & FIE & Ik 60 70 & faTRa =& 5 FueT &
O H Hisd GG Toh Ao &

h o]
FAT AR H AGcAYUT Aled 379N hT TSshl I Flefall STl
Sl ﬂli%(’ ?

SE
. T8I, SEH ITAELTRT TAT3 FI serar Aeam
I. 8T, STQ AT 3T o I SATYR T 3T & ST

Options:

1. v | 3R Il Qe Asted &
2. % kgl |l AET &I
3. # %had | HAYT &I

4. = F5 o AT «TEr g

Question Number : 11 Question Id : 54592740815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the question two statements are given, followed by three
conclusions, I, IT and III. You have to consider the statements
to be true even if it seems to be at variance from commonly
known facts. You have to decide which of the given
conclusions, if any, follows from the given statements.

Statement 1 : Some lizards are bats.
Statement 2 : All bats are snakes.

Conclusion I : Some lizards are snakes.
Conclusion II : No bats are lizards.
Conclusion III : Some snakes are hats.

Options:

1. = Only conclusion I follows

2. = Only conclusion I and II follows
3. v Only conclusion I and III follows
4. = Only IT and III follows

Question Number : 11 Question Id : 54592740815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g e H A Fud v av &, 39+ s i oy |, 1l 3w
Il foU a0 &1 39T S FYUT Bl T HAlTAT 19T, Hol a7 T
AT 7 O AT azal & fiead wdiad & @ a8l 39 I8

fooTT %aT gl fF fev v fasesf & @ sl ar foswy, afg
FE &Y, faT T FUA FT TR FIT B

FereT 1 :g@%ﬁﬁtﬁmﬁl
FeT 2 ; THT THINES TTT &

WI:@WW%I
fashy || ; RIS THIES TSRl Aol gl
ARy || : FO AT THIES &l

Options:

1. % hael oSy | 37eTETOT FTc] =y
2. = Fgel fashy | 3T || FEIOT FIAT &

3. v Fad TSRy | 3iT |l 3T AT &
4. = Fae Il 31T |l HFEIOT Il Y

Question Number : 12 Question Id : 54592740816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

21:441:: 267
Options:

1. = 675
2. % 650



3.« 676
4, = 680

Question Number : 12 Question Id : 54592740816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 [@hed T TIT Y of dY U 8 34T ThR & Jaiad &
o 9 & Ygel U5 g UT H FEEAd g

21 441 . 26 7

Options:

1. = 675
2. = 650
3. v 676
4. = 680

Question Number : 13 Question Id : 54592740817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series:

118.72,116.34, 113.96, , 109.2

Options:

1.+ 111.58
2. % 110.25
3.+ 111.21
4. % 111.28

Question Number : 13 Question Id : 54592740817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feTfaTaT a&ar s/&er | AT TEIT ATd F|

118.72, 116.34, 113.96, , 109.2

Options:

1. v 111.58
2. = 110.25
3. = 111.21
4. = 111.28

Question Number : 14 Question Id : 54592740818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between mammals, horses and animals?

Options:

1. v

% B © ©

4 =

Question Number : 14 Question Id : 54592740818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faraf@a & O Fia-ar 39 3T TaaariEr, @met 3k
STeTal] & ST & e o Tad 37THT S2ATdT 87

Options:

2 &

Q0

3. =

.- (A

Question Number : 15 Question Id : 54592740819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man goes 5 kms south and then takes a left turn to move 12
kms. What is the minimum distance between the starting
point and the point he is standing now?

Options:

1. = 17 km
2. v 13 km
3. %12 km
4. % 10 km

Question Number : 15 Question Id : 54592740819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh 3GHT 5 km ZT&OT &1 3 ST § 3T T 12 km Tolet
% v S0 3 34T &1 URfAF fog 3k 39 fog & o
gl il AT § @l g 378 =sT 87

Options:

1. = 17 km
2. v 13 km
3. * 12 km
4. = 10 km

Question Number : 16 Question Id : 54592740820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two men A and B start from the same point. A walks 0.15 km
north, then turns to his left and walks 0.21 km. B walks 0.34
km south, then turns west and walks 0.07 km, then turns
north and walks 0.11 km then turns to his left and walks 0.14
km. Where is B with respect to A now?

Options:

1. = 0.38 km north
2. v 0.38 km south
3. = 0.08 km south
4. = 0.08 km north

Question Number : 16 Question Id : 54592740820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



al 989 A 3 B U & fog & Telelm 4F FId &1 A 0.15 km
3T ® Tordr &, TR 910 3 H3aT § 3R 0.21 km <TeldT g
B Zf&oT & 0.34 km <erdr &, TRy afews $r 3T #3a1 § 317
0.07 km refdT &, THT 3ot shr 3 3T § 3T 0.11 km
Teldl § 3 T 37961 10 3 F3T § 3 0.14 km Ferdr |
A & @S H B 319 Fal &7

1. = 0.38 km 3ca¥

2. v 0.38 km &f&or

3. % 0.08 km Ef&or
4. = 0.08 km 3ca¥

Question Number : 17 Question Id : 54592740821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

a4a
b
d

D
ad

L W o B

D

o9
o O &

o oo
= =

-2
i
Fa

0o
= Bl R




=
==

L= = O
D oo o
]

4, v

Question Number : 17 Question Id : 54592740821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev arv Rereul & &, A9 v Afeaa alies & gATT &

gTaliter, Uk fahed 3708 Aol T g 87 &1 39 Theq &
T he ST ATl & 39T &l

Options:
pDDaaq
D D
D d d

1. = (a0
pDa oD
d D
qabmD

? % |abpD

(=
&
o B o W

anp ¥
apda
q M)
4. ¢ |paabp

Question Number : 18 Question Id : 54592740822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following answer figure completes the series of
the question figure?

BV
®+

Options:

Question Number : 18 Question Id : 54592740822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArfold A & FIT-87 Jcal 3MRiT goa 3RfT Fr Azer Fr

T AT 57

BV
® -+

Options:



A®

W 4
A

Question Number : 19 Question Id : 54592740823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

XX

Options:




4, v

Question Number : 19 Question Id : 54592740823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ccl 3T # Tohd el ST WRe 3MThid H Yehe Ol & IR
UL @l ST S Tehdl &7

XX

Options:

Ay
2« [P
3. % L ] [ ]




Question Number : 20 Question Id : 54592740824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following answer figure completes the pattern
shown in the question figure?

N =
?

0 &

Options:

1.%E D

4, v

Question Number : 20 Question Id : 54592740824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArfa@a & @ FIF-A1 ScaT 3R I MHfd A gehv v
Ucel o YA HTcAT &7

N

0

Options:

¥
[z S 0
o
— N =

General Awareness

Group Number : 2

Group ld: 5459272022
Group Maximum Duration : 0

Group Minimum Duration : 0
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Edit Attended Group? : No

Break time: 0

Group Marks: 20
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Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness

Section Id : 5459272022

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272426
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592740825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following dance forms is also known as Sua Lua?

Options:

1. v Chang Lo
2. = Phulpati
3. = Cheraw

4. = Parvi Nach

Question Number : 21 Question Id : 54592740825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & & FiT AT 5T T 3T 3T & H & & S
ST 87

Options:

1. v TIET ol
2. % Jordiel
3. = WG
4, = 9Idr o=



Question Number : 22 Question Id : 54592740826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

songs are used to describe a woman’s longing for her
lover.

Options:

1. = Birha
2. » Tappa
3. = Jugni
4. v Kajari

Question Number : 22 Question Id : 54592740826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T 3UIET TRET ATET AT 39a UAT hI Schorl
FT gulel el F T FFam Srar &

Options:

1. = To@T

2. % 4T
3.&@?1?&
4. v FolT

Question Number : 23 Question Id : 54592740827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a method adopted by RBI to
maintain the liquidity of economy?

Options:

1. = Cash Reserve Ratio

2. = Buying / Selling of Govt. Bonds
3. = Repo rate
4. v Buying / Selling of shares

Question Number : 23 Question Id : 54592740827 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

farafalf@a & & i a1 v adiehT 1@l & St RBI ganT
HITGEAT FT ITEAT FHT FAC I@a & o0 AT =T &7

Options:

1. = oohe &M 3efurd

2. » FLHRT 15 Fr =g / S
3.« {WI' &I

4, v AT ST TG / ekt

Question Number : 24 Question Id : 54592740828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The minimum support prices of Bajra for 2019 - 2020 is

Options:

1. » Rs. 1950
2. v Rs. 2000
3. ®= Rs. 2450
4. % Rs. 1770

Question Number : 24 Question Id : 54592740828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 - 2020 & TV SoRT T goldH AT Hed
=y
Options:

1. = 1950 &9
2. v 2000 ¥9
3. = 2450 ¥
4. = 1770 393

Question Number : 25 Question Id : 54592740829 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Purification of alcohol 1s an example of

Options:

1. = sedimentation

2. = decantation
3. = filtration
4. v distillation

Question Number : 25 Question Id : 54592740829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SNTS T Ul T Ueh 3207 &

Options:

1. = 3TddIG
2. = TeaEdro
3. = fereuca
4. v 3EdA

Question Number : 26 Question Id : 54592740830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s used in moisturing creams and soaps because of its
hygroscopic properties.

Options:

1. v Glycerol
2. » Ethanol
3. = Teflon

4. » Chlorine

Question Number : 26 Question Id : 54592740830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHh BIENEehITIeh J[0T & SHIOT, T 3T HIF 3T
HIG T AT 2o A ohar ST g

Options:




B W=
®

Question Number : 27 Question Id : 54592740831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The common name of Tocopherol is

Options:

1. v Vitamin E
2. = Vitamin K
3. = Vitamin A
4. = Vitamin C

Question Number : 27 Question Id : 54592740831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SRRl RT TTHTCYT oITH gl

Options:

1. v @@ E
2. = faarfas K
3. = Taeria«T A
4. = faarfasr C

Question Number : 28 Question Id : 54592740832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chambal is a tributary of river.

Options:

1. » Ganga
2. * Brahmaputra
3. » Indus



4. v Yamuna

Question Number : 28 Question Id : 54592740832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<Tael el hT Ush HEeh oIl o

Options:

1. = 3@
2. % §eHIA
3.« iy
4. v FHAT

Question Number : 29 Question Id : 54592740833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Drakensburg is the mountain range of

Options:

1. » Asia

2. » Australia
3. = Europe
4. v Africa

Question Number : 29 Question Id : 54592740833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ggho-w{-ltsidi $r Taqa "Eiéﬂc»il %’I
Options:

1. = QieRm

2.
3. % JUT
4. v 3ThIRT

Question Number : 30 Question Id : 54592740834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following crops requires water - logging for its
cultivation?

Options:

1. » Wheat
2. = Cotton
3. = Maize
4. v Rice

Question Number : 30 Question Id : 54592740834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI # & T BH I 90T JdT & [olT ol - 19
T EIRAT BIAT &7

Options:
1. = 3g

2. % U
3. » HRT
4. v AT

Question Number : 31 Question Id : 54592740835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The President of the Lahore Session of Indian National
Congress of 1929 was

Options:

1. = Pherozeshah Mehta

2. » Gopal Krishan Gokhale
3. » Dadabhal Naoroji

4. v Jawaharlal Nehru

Question Number : 31 Question Id : 54592740835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1929 & AT ISETT FEH & @iy TaqereT & 3TeTey
|

Options:

1. = ThUoTeNg Agdl
2. = FYTel FSOT T
3. * GIGTHTS ARSI

4. v STATETATS AGE

Question Number : 32 Question Id : 54592740836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was the successor of Chandragupta I.

Options:

1. = Vishnugupta

2. » Chandragupta II
3. v Samudragupta
4, » Skandagupta

Question Number : 32 Question Id : 54592740836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

tigd;l,'««d | AT ScadITeeRRT 2T

Options:

1. = TgsupErca

o
2. % Togdltd T |
3. ¢ SE TR
4.

% Tehogdlt]

Question Number : 33 Question Id : 54592740837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the Battle of Buxar fought?

Options:



1.~ 1764
2. % 1802
3. = 1857
4. = 1902

Question Number : 33 Question Id : 54592740837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SFEL T Y& hdl oI5T I AT?

Options:

1. v 1764
2. = 1802
3. = 1857
4. = 1902

Question Number : 34 Question Id : 54592740838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following books is not written by Salman
Rushdie?

Options:

1. = Midnight's Children
2. » Shame

3. = Fury

4. v The White Tiger

Question Number : 34 Question Id : 54592740838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d & @ Fle @ GEdw HelATe &I ZaRT «gT Torzlr
e X

Options:

1. » fAsaAEe ”ega




4. v T calsc¢ CISIN

Question Number : 35 Question Id : 54592740839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following films won the filmfare award 20197?

Options:

1. » Badhaai Ho
2. » Andhadhun
3. » Sanju
4. v Raazi

Question Number : 35 Question Id : 54592740839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

farafeed & & frg e o heathay 3/@rg 2019 SAT?

Options:

1. = §4UTS &l
2. *

3. % o[
4. v AT

Question Number : 36 Question Id : 54592740840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The headquarters of United Nations Organization is located in

Options:

1. v New York
2. * Washington
3. = Geneva



4, » Paris

Question Number : 36 Question Id : 54592740840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fl"é;lj?l——cr IS¢ TS LeRIER A Tua g

Options:

‘I.JFQ\?I%
2. = gireares
3. = Toiatar
4, = IRH

Question Number : 37 Question Id : 54592740841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Articles deals with abolition of titles?

Options:

1. % 14
2. % 15
3. %17
4. v 18

Question Number : 37 Question Id : 54592740841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d # & Hid &7 o Ml & Sederel § Taad &7

Options:

1. = 14
2. = 15
3. = 17
4. v 18

Question Number : 38 Question Id : 54592740842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



as a Union Territory.

Options:

1. = 8th

2. » 13th
3. v 10th
4, = 15th

Question Number : 38 Question Id : 54592740842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Amendment incorporated Dadra, Nagar and Havell

GeNeTal o shg T UGel o 9 H GIedl, a9l
AT &Zdeir T enfaer fram

Options:

1. = &l
2. = 13av
3. v 1047
4, = 1587

Question Number : 39 Question Id : 54592740843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

has the highest total career runs in the Test

Cricket.

Options:

1. v Sachin Tendulkar
2. = Ricky Ponting

3. = Brian Lara

4. = Kumar Sangakkara

Question Number : 39 Question Id : 54592740843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

c¥c Tohehe H Ted 3T Fel Tal + &l




Options:

1. v e d“%eich{
« TR TifeaT

2.
3. % F—Tad NI
4.

% FAR IR

Question Number : 40 Question Id : 54592740844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following bowlers has the highest wickets in
the One Day Internationals format?

Options:

1. » Shane Warne

2. » Wasim Akram

3. v Muttiah Muralitharan
4. = Anil Kumble

Question Number : 40 Question Id : 54592740844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el deamer & O frae e R 3iaiseT ursd &
gaifdes gde fow &7

Options:

1. = eleT dlel

2. » GUIHA 3TRH
S.JE%TWW
4. » 3iferel Feel

Arithmetic Ability
Group Number : 3
Group Id : 5459272023

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability
Section Id : 5459272023
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 5459272427
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592740845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify: 24/49 - 349 + 12/81 - 44/289

Options:

1. = 17
2. % 33
3.% 24
4. v 45

Question Number : 41 Question Id : 54592740845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIT R 2+/49 - 3/9 + 124/81 - 4289

Options:

1. % 17
2. % 33



3. = 24
4. v 45

Question Number : 42 Question Id : 54592740846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ashok ate 1/8 part of a cake while his sister Soniya ate 3/7 of
the remaining. The part of the cake that is left is

Options:

1. = 9/8
2. % 217
3. % 447
4. v 1/2

Question Number : 42 Question Id : 54592740846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Nk o Ueh sheh T 1/8 1T WRIT, STeieh 3T FgeT ifaAT
o AW FT 3/7 TR T g Fh HT fgEa gl

Options:

1. = 9/8
2. % 2{7
3. = 4/7
4. v 112

Question Number : 43 Question Id : 54592740847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify: 12.0012 + 0.12 + 120.12 + 0.012

Options:

1. = 1.32048
2. v 132.2532
3. = 13.20328



4. % 132.0548

Question Number : 43 Question Id : 54592740847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl e 12.0012 + 0.12 + 120.12 + 0.012

Options:

1. = 1.32048
2. v 132.2532
3. = 13.20328
4. = 132.0548

Question Number : 44 Question Id : 54592740848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify: (9 x 9/625 -8 x 8 /225) + (64 ~ 4 + 56 + 8 - 8)
Options:

1. = 59
2. % 53
3. = 64
4.v71

Question Number : 44 Question Id : 54592740848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FE (9 x 9625 - 8 x 8 /225) + (64 + 4 + 56 + 8 -
8)

Options:

1. = 59
2. = B3
3. = 64
4, v 71

Question Number : 45 Question Id : 54592740849 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The expression (4.08 x 408 + 408 x A + 512 x 5.12) will be a
perfect square if A is equal to:

Options:

1. = 10.2

2. % 10.02
3.v10.24
4. %1042

Question Number : 45 Question Id : 54592740849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i A, F ST g ar (4.08 x 4.08 + 4.08 x A + 512
x 5.12) Wk quT Fof g

Options:

1. = 10.2
2. = 10.02
3. v 10.24
4. = 10.42

Question Number : 46 Question Id : 54592740850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of the three girls is 15 years and their ages
are in proportion 4 : 5 : 6. What is the age in years of the
youngest girl?

Options:

1. v 12 years
2. % 15 years
3. = 18 years
4. = J years

Question Number : 46 Question Id : 54592740850 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ol ersferal hr AFT T 15 aT E AN 3R 3T 4 : 5: 6
% AT H &l TIH FH 3H T AR T 3H AT &7

Options:

1. v 12 @Y
2. % 15 a¥
3. » 18 a¥
4, = 9 ¥

Question Number : 47 Question Id : 54592740851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number on subtracting 18 from it, reduces to its 80%, what
1s 30% of the number?

Options:

1. = 21
2. % 60
3. % 42
4 v 27

Question Number : 47 Question Id : 54592740851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

18 el W Teh I&dl, 80% deoh A &I Al &, I&IT 6l
30% Torder &7

Options:

1. = 21
2. = 60
3. % 42
4. v 27

Question Number : 48 Question Id : 54592740852 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

If A’s height is 35% less than that of B. How much percent B's
height is more than that of A?

Options:

1. » 48.65 percentage
2. % 39.79 percentage
3. v 53.84 percentage
4. = 42 .87 percentage

Question Number : 48 Question Id : 54592740852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg A HT 32ME B FT Jelell A 35% wA § Al B HT 3= A
T TelalT & Tohcel ufaerd sffaek &7

Options:

1. = 48.65 gfaera
2. % 39.79 ufoera
3. v 53.84 wufdera
4. = 42.87 gfaerd

Question Number : 49 Question Id : 54592740853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The fruit seller bought some Mangoes at the rate of 250 for Rs.
5500 and sold them at 180 for Rs. 4500. Find the gain or loss
percentage.

Options:

1. v Gain 13.63 percentage
2. = Gain 31.36 percentage
3. = Loss 27.88 percentage
4. » L.oss 19.29 percentage

Question Number : 49 Question Id : 54592740853 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Wﬁaa—cn?rzmmae‘rﬂﬁ%oomﬁ;mmaﬂ?
AT 3eg 180 TU T 2T ¥ 4500 39T H s fer| o ar
&TTeT UTcrerd AT hi|

Options:

1. v 13.63% o
2. » 31.36% oM
3. = 27.88% g&Ilol
4. = 19.29% gifel

Question Number : 50 Question Id : 54592740854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compounded ratio of (1: 2), (6 :7), (14 : 15) 1s:

Options:

1. = 1/4
2. = 3/5
3. % 2f7
4. v 2/5

Question Number : 50 Question Id : 54592740854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1:2), (6:7), (14 : 15) &7 AAF 37eqarer &)

Options:

1. = 1/4
2. = 3/5
3. = 27
4. v 25

Question Number : 51 Question Id : 54592740855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A mixture contains alcohol and water intheratio7: 4. If 6
litres of water is added to the mixture, the ratio becomes 7 : 5.
Find the quantity of alcohol in the given mixture.

Options:

1. = 40 litres
2. % 41 litres
3. v 42 litres
4. = 43 litres

Question Number : 51 Question Id : 54592740855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vk fRSOT F 7 ¢ 4 F A 7 3fohlgd T aelr ¥ Afy
fAAOT 7 6 oy aTell STeT ST §, o 3feqared 7 : 5 g6 S &
feu are TASOT A 3Tehigel Rl ATAT T AT Hi

Options:

1. = 40 offex
2. = 41 olfex
3. v 42 dIcX
4. % 43 olex

Question Number : 52 Question Id : 54592740856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs. 25,000 amounts to Rs. 28,900 in 6 years at the
rate of simple interest. What is the rate of interest?

Options:

1. » 2 percentage

2. » 240 percentage
3. v 2.60 percentage
4. = 2.90 percentage



Question Number : 52 Question Id : 54592740856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25,000 9T T T GTUROT =17 & 6 ast & 28,900 $9F &
ST &1 SITeT & 4T 7

Options:

1. = 2 gfcera

2. % 2.40 ufderd
3. v 2.60 wfcrerd
4, = 2.90 ufderd

Question Number : 53 Question Id : 54592740857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three friends A, B and C start to run around a circular
stadium. They complete a revolution in 24, 32 and 40 seconds
respectively. After how many minutes will they meet at the
starting point?

Options:

1. » 480
2.v 8
3. = 60
4. = 180

Question Number : 53 Question Id : 54592740857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dret AT A, B 3N C s gedrehl EfSTA & IRT 31T alser
UF FIA &1 T FAM: 24, 32 3N 40 THs H TF Toh [ R
g1 e fog 9w a fovcel e & amg fAela?

Options:

1. = 480
2. v 8




3. = 60
4. = 180

Question Number : 54 Question Id : 54592740858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two trains 90 m and 85 m long are running in same direction
with speeds of 56 km/h and 42 km/h respectively. In what
time will the first train cross the second train?

Options:

1. = 42 second
2. v 45 second
3. = 56 second
4. = 67 second

Question Number : 54 Question Id : 54592740858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T YoEmT=AT 90 m 3T 85 m o6l HAM: 56 km/h 3T 42
km/h &t a1t & a1y el BT &1 ohda 8T # 98l Ioamar
T Le@MST Y R HIIT?

Options:

1. = 42 Q%3
2. v 45 WFE
3. » 56 Q&3
4. = 67 WHs

Question Number : 55 Question Id : 54592740859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Arjun can do a piece of work in 28 days. Aman can do it in 36
days. In how many days will both do it together?

Options:

1. v 15 (3/4) days




2. = 12 (4/3) days
3. % 13 (9/2) days
4. = 16 (1/2) days

Question Number : 55 Question Id : 54592740859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3folel 28 Tl H U HIHA FT Hhal &1 37AT 36 oo H T
gohdT &1 2l vk a1y fohda fgat & Fiar

1.#15 (3/4) Teat

2. % 12 (4/3) Tt

3. = 13 (9/2) feor

4. = 16 (1/2) feat

Question Number : 56 Question Id : 54592740860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sphere of radius 12 cm is melted and then a solid cylinder
of base radius 4 ¢m i1s made from it. The height of solid
cylinder, thus formed is how much?

Options:

1. = 96 cm

2. % 128 cm
3.v144 cm
4. = 169 cm

Question Number : 56 Question Id : 54592740860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 cm =T & T el o WEemar 9T & 3T 389 4 cm
YR B35 &7 T 319 [els¥ §a14r SATAT &1 56 S [¥elsy
HT Fus Thder &7

Options:




1. = 96 cm
2. % 128 cm
3. v 144 cm
4. = 169 cm

Question Number : 57 Question Id : 54592740861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The circumference of the front wheel of a cart is 28 ft long
and that of the rear wheel is 42 ft long. What is the distance
travelled by the cart, when the front wheel has done eight
more revolutions than the rear wheel?

Options:

1.~ 672 ft
2. %= 437 ft
3. % 527 ft
4, = 877 ft

Question Number : 57 Question Id : 54592740861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh ISl o 3M9Tel gV =l IR 28 e o6l § 3N 9 arel
afgu fT ofdrs 42 Hie g1 ST SaNT OF Fr a5 ol FAT §, S
HHA & 90 of TS & 9fge &7 Jelell # 37Tc Tk 31T

1. v 672 HIC
2. = 437 e
3. » 527 fre
4. = 877 e




Question Number : 58 Question Id : 54592740862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following pie chart shows the breakup of road accidents
in 7 states for a given year. Out of these 7 states which state
recorded the most number of road accidents?

Breakup of the number of road accidents
reported in 7 states

Options:

1. v Delhi
2. » Kerala
3. = Bihar
4. = Goa

Question Number : 58 Question Id : 54592740862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafaa o = 7 UsAt # v a¥ A a5 gEcnsit &
Sh3TT I g2TaT &1 S 7 Todl # & fh9 Uo7 A Hs+
qHeaT3 T TEAT T A §?

7 Usal # weF gheenaHt
TEAT FT aF7T

Options:

1. v el
2. % el
3. » WER
4, = FNGT

Question Number : 59 Question Id : 54592740863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following bar graph shows the amount of production and
sales (in tons of kilograms) over the given 6 years in a
particular state. Find the ratio of total production to total
sales for all given years.

300 +
B Production ™ Sales

240
10 -
Fany
I 150 150 I

2015 2016 017

250 4
200

150

1 180
| 140 135
125 ¥
100 4 -
50 4 I
2014
Ye

Amount of Production and Sales

-

2012 2013

FJ
ar

Options:

1.+19:15
2. % 209 :170
3.%17:15
4. % 207 :166

Question Number : 59 Question Id : 54592740863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T o oh oY 99y o & fgv arv 6 ant &
3cuTeel 3T f9shT 1 AET (forellamd & &) @ geifar &1 fow
maﬁ#ﬁvﬁﬁﬁrﬁiw 3cUTEsT T 3T AT |

g 50 -

# = |

:

E : I iI II I I
Options:

1. v 19 : 15

2. = 209 : 170

3. = 17 : 15

4. = 207 : 166

Question Number : 60 Question Id : 54592740864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The histogram shows the heights of 30 giraffe in a zoo,
grouped into 10-inch groups. How many giraffes were greater
than or equal to 200 inches tall?

Frequency
2D = N W s WM R N B WD

180 - 190 190 - 200 200 - 210 210 - 220 220 - 230 230 - 240
Height (inches)

Options:

1. v 17
2. % 18
3.% 19
4. % 20

Question Number : 60 Question Id : 54592740864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT vk REIET & 30 % ST FAsAar 1 21 T g,
goe 10 9 & FHgI A Fer 17 & forder [SIw 200 g9 &

TR AT 3HF S1{ET os 247

O = M W B W o o B WD

180 - 190 190 - 200 200 - 210 210- 120 230- 230 230 - 240

g | v




Options:

1. v 17
2. = 18
3. = 19
4. = 20

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

General English

4
5459272024
0

0

No

No

0

20

No

Yes

0

0

General English

5459272024
1

Online
Mandatory
16

16

20

1
5459272428
Yes

Question Number : 61 Question Id : 54592740865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

(A) They decorated / (B) the house from / (C) balloons and
ribbons../ (D) No error

Options:

1. = A
2.v B
3.=C
4, %D

Question Number : 61 Question Id : 54592740865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

(A) They decorated / (B) the house from / (C) balloons and
nbbons../ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 62 Question Id : 54592740866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

(A) Barkha has / (B) been learning Spanish / (C) since 2015. /
(D) No error

Options:

1. = A
2.% B
3.=C
4.+ D

Question Number : 62 Question Id : 54592740866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

(A) Barkha has / (B) been learning Spanish / (C) since
2015. / (D) No error

Options:

1. = A
2. = B
3. = C
4. v D

Question Number : 63 Question Id : 54592740867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

I (will be meeting) Fatima tomorrow.

Options:

1. = will met

2. * have been meeting
3. * has been meeting
4. v No Improvement

Question Number : 63 Question Id : 54592740867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required’ If the sentence Is correct as given.

| (will be meeting) Fatima tomorrow.

Options:

1. = will met
2. = have been meeting
3. = has been meeting

4. v No improvement

Question Number : 64 Question Id : 54592740868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the sentence
meaningfully. Select the option 'no correction required’ if the
sentence 1s correct as given.

The child was staring out through the open window with
(daze) eyes.

Options:

1. v dazzled

2. » dazzles

3. = dazzlingly

4. = No Improvement

Question Number : 64 Question Id : 54592740868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
bracketed word segment correctly and completes the
sentence meaningfully. Select the option 'no correction

required' If the sentence Is correct as given.

The child was staring out through the open window with

(daze) eyes.

Options:

1. v dazzled
2. = dazzles
3. = dazzlingly

4. = No improvement



Question Number : 65 Question Id : 54592740869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word that fills in the blank
correctly and completes the sentence meaningfully.

He was starting space.

Options:

1. = at

2. v 1Into
3. % 1n

4. = upon

Question Number : 65 Question Id : 54592740869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word that fills in the blank

correctly and completes the sentence meaningfully.

He was starting space.

Options:

1. = at
2. ¢ Into
3. = In
4. = upon

Question Number : 66 Question Id : 54592740870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word that fills in the blank
correctly and completes the sentence meaningfully.

Once upon a time there a man called Danish.

Options:



1. = live

2. » lives

3. v lived

4, = I8 llving

Question Number : 66 Question Id : 54592740870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word that fills in the blank

correctly and completes the sentence meaningfully.

Once upon a time there a man called Danish.

Options:

1. = live
2. = |ives
3. v lived
4. % 1s living

Question Number : 67 Question Id : 54592740871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and labelled
P, ), R and S. Select the option that gives the correct sequence
in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

Child labour was the

P: because children could be

(Q: as efficiently as adults on machines
R: hallmark of the Industrial Revolution
S: paid less and they could work



Options:

1. = QSPR
2. = PSQR
3. v RPSQ
4. = SQRP

Question Number : 67 Question Id : 54592740871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and
labelled P, Q, R and S. Select the option that gives the
correct sequence In which these parts can be rearranged to

form a meaningful and grammatically correct sentence.

Child labour was the

P: because children could be

Q: as efficiently as adults on machines
R: hallmark of the Industrial Revolution

S: paid less and they could work

Options:

1. = QSPR
2. = PSQR
3. v RPSQ
4. = SQRP

Question Number : 68 Question Id : 54592740872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Some parts of a sentence have been jumbled up, and labelled
P, ), R and S. Select the option that gives the correct sequence
in which these parts can be rearranged to form a meaningful
and grammatically correct sentence.

The Rowlatt Act

P: which authorised the British Government
Q): without any trial

R: to imprison any person in the Raj

S: was passed in March 1919

Options:

1. = QSPR
2. » RQSP
3. = RSPQ
4. v PRQS

Question Number : 68 Question Id : 54592740872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and
labelled P, Q, R and S. Select the option that gives the
correct sequence in which these parts can be rearranged to

form a meaningful and grammatically correct sentence.

The Rowlatt Act
P: which authorised the British Government
: without any trial

to imprison any person In the Ra]

W DO

was passed In March 1919



Options:

1. = QSPR
2. » RQSP
3. = RSPQ
4. v PRQS

Question Number : 69 Question Id : 54592740873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

Vouch

Options:

1. = Dull

2. = Consent
3. » Morality
4. v Abjure

Question Number : 69 Question Id : 54592740873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite iIn meaning (ANTONYM) to

the word given below.

Vouch

Options:

1. = Dull

2. = Consent

3. = Morality



4. v Abjure

Question Number : 70 Question Id : 54592740874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

Terse

Options:

1. v Gentle
2. » Wild

3. = Compact
4. = Calm

Question Number : 70 Question Id : 54592740874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that 1s opposite in meaning (ANTONYM) to

the word given below.

Terse

Options:

1. v Gentle
2. = Wild

3. = Compact
4. » Calm

Question Number : 71 Question Id : 54592740875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. v Exultation



2. « Excultation
3. » Excultration
4. = Exultition

Question Number : 71 Question Id : 54592740875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is spelled correctly.

Options:

1. v Exultation
2. # Excultation
3. = Excultration

4. = Exultition

Question Number : 72 Question Id : 54592740876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Vaccilate
2. » Vacilate
3. = Vaccillate
4. v Vacillate

Question Number : 72 Question Id : 54592740876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the word that Is spelled correctly.

Options:

1. = Vaccilate
2. = Yacilate
3. = Vaccillate

4. v Vacillate



Question Number : 73 Question Id : 54592740877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

Thumb one's nose

Options:

1. = Pretend to be happy

2. » To reveal someone’s secret

3. v To express scorn or to disregard
4. = To have fun with friends

Question Number : 73 Question Id : 54592740877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idliom or phrase given below.

Thumb one's nose

Options:

1. = Pretend to be happy
2. » To reveal someone's secret
3. v To express scorn or to disregard

4. = To have fun with friends

Question Number : 74 Question Id : 54592740878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

He’s a chip off the old block



Options:

1. = Ignore someone

2. v The son is like the father

3. » To do something pointless
4. = Get something exactly right

Question Number : 74 Question Id : 54592740878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

He's a chip off the old block

Options:

1. = Ignore someone
2. v The son is like the father
3. * To do something pointless

4, = (Get something exactly right

Question Number : 75 Question Id : 54592740879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions
given below.

A state, soclety, or group governed by old people

Options:

1. = Aristocracy

2. » Bureaucracy
3. v Gerontocracy
4. = Kakistocracy



Question Number : 75 Question Id : 54592740879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word ' for the expressions

given below.

A state, society, or group governed by old people

Options:

1. = Aristocracy
2. % Bureaucracy
3. v (Gerontocracy

4. = Kakistocracy

Sub-Section Number: 2
Sub-Section 1d: 5459272429
Question Shuffling Allowed : Yes

Question Id : 54592740880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

QQuestion Label : Comprehension



Read the passage carefully and answer the following
questions based on this passage.

'About Time’ is a 2013 British romantic comedy-drama film
about a young man with the ability to time travel who tries to
change his past in hopes of improving his future. The film
was written and directed by Richard Curtis, and

stars Domhnall Gleeson, Rachel McAdams and Bill Nighy. It
was released in the United Kingdom on 4 September

2013. The film received mixed reviews from critics.

The review aggregation website Rotten Tomatoes gives the
film a rating of 70%, based on 154 reviews, with an average
rating of 6.36/10. At the box office it grossed $87.1 million
against a $12 million budget. In the movie,Tim Lake
(Domhnall Gleeson) grows up in Cornwall in a house by the
sea with his father James (Bill Nighy), mother Mary (Lindsay
Duncan), absent-minded uncle Desmond (Richard Cordery),
and free-spirited sister Katherine or "Kit Kat" (Lydia Wilson).
At the age of 21, Tim learns from his father that the men of
his family have the secret ability to travel back in time, to
moments they have lived before. In order to time travel they
must be in a dark space, clench their fists and visualize the
memory they wish to travel back to. James discourages his
son from using his gift to acquire money or fame, and Tim
decides he will use it to improve his love life. The following
summer, Kit Kat's friend Charlotte (Margot Robbie) visits. Tim
is instantly smitten, but waits until the end of her stay to tell
her how he feels; she tells him that he should have told her
earlier. Tim travels back in time to tell Charlotte in the
middle of the holiday, but she says it would be better to wait
until her last day. Heartbroken, Tim realizes she is
uninterested in him, and that time travel cannot change
anyone’s mind.



Sub questions

Question Number : 76 Question Id : 54592740881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the film 'About Time’ released?

Options:

1. = 2010
2. % 2012
3. = 2011
4. v 2013

Question Number : 77 Question Id : 54592740882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following was not a genre of "About Time'?

Options:

1. * Romance
2. = Comedy
3. v Sci-fi

4. = Drama

Question Number : 78 Question Id : 54592740883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the movie, where does Tim Lake grows up?

Options:

1. v Cornwall
2. » India

3. = Uganda
4. » Australia

Question Number : 79 Question Id : 54592740884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What did Tim learn from his father at the age of 21?

Options:

1. » That men of his family are intelligent



2. v That men of his family have the secret ability to travel
back in time

3. « To drive
4, = To fly

Question Number : 80 Question Id : 54592740885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an antonym for the word 'smitten’?

Options:

1. = affected

2. » taken

3. = stricken
4. v unaffected

Question Id : 54592740880 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension



Read the passage carefully and answer the following

questions based on this passage.

'‘About Time' is a 2013 British romantic comedy-drama film
about a young man with the ability to time travel who tries
to change his past in hopes of improving his future. The
film was written and directed by Richard Curtis, and

stars Domhnall Gleeson, Rachel McAdams and Bill Nighy. |t
was released in the United Kingdom on 4 September

2013. The film received mixed reviews from critics.

The review aggregation website Rotten Tomatoes gives the
film a rating of 70%, based on 154 reviews, with an
average rating of 6.36/10. At the box office it grossed $87.1
million against a $12 million budget. In the movie, Tim Lake
(Domhnall Gleeson) grows up in Cornwall in a house by
the sea with his father James (Bill Nighy), mother Mary
(Lindsay Duncan), absent-minded uncle Desmond (Richard
Cordery), and free-spirited sister Katherine or "Kit Kat"
(Lydia Wilson). At the age of 21, Tim learns from his father
that the men of his family have the secret ability to travel
back Iin time, to moments they have lived before. In order
to time travel they must be in a dark space, clench their
fists and visualize the memory they wish to travel back to.
James discourages his son from using his gift to acquire
money or fame, and Tim decides he will use it to improve
his love life. The following summer, Kit Kat's friend
Charlotte (Margot Robbie) visits. Tim is instantly smitten, but
waits until the end of her stay to tell her how he feels; she
tells him that he should have told her earlier. Tim travels
back in time to tell Charlotte in the middle of the holiday,
but she says it would be better to wait until her last day.
Heartbroken, Tim realizes she is uninterested in him, and

that time travel cannot change anyone’s mind.



Sub questions

Question Number : 76 Question Id : 54592740881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the film 'About Time' released?

Options:

1. = 2010
2. = 2012
3. = 2011
4. v 2013

Question Number : 77 Question Id : 54592740882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following was not a genre of 'About Time'?

Options:

1. = Romance
2. » Comedy
3. v Scifi

4. = Drama

Question Number : 78 Question Id : 54592740883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the movie, where does Tim Lake grows up?

Options:

1. v Cornwall
2. = India

3. » Uganda
4. = Australia

Question Number : 79 Question Id : 54592740884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What did Tim learn from his father at the age of 217

Options:

1. = That men of his family are intelligent °

2. v That men of his family have the secret ability to travel

back In time
3. % To drive
4. = To fly

Question Number : 80 Question Id : 54592740885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s an antonym for the word 'smitten'?

Options:

1. = affected
2. = taken
3. % stricken

4. v unaffected
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Section 1d : 5459272025

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272430
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592740886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgtetad v #, IR faweul & @, 39 [Tdher & o3 &2 ST 18U TT 98
GTer fercee, & ITer o1 ggr Ty gil

+

A + 3T

Options:

1. = 30T

2. v AT
3. = 3T
4, % S

Question Number : 81 Question Id : 54592740886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
St U a0 ggr afer fawde 1 afer &1 T8 [dhed &Nl

3TeT + 3797

Options:

1. % 39T
2. v 39T
3. % 37eT9T



4. % 37T379T

Question Number : 82 Question Id : 54592740887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FRTeTed U #, I” [Adeul § 9, 39 [dded & Id= & ST 6T T e
&7 Ggl GTEr Terede, ar Tdded il

JcgdH

Options:
1. = 3fdy + ad
2. % 31 + A

3. % 3cg + A
4. v 31 + 399

Question Number : 82 Question Id : 54592740887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
St few 710 ofsg & WEr O Ta<og &1 ddheq &l

oA
N
Options:

1.« 3fag + dd
2.*3'11_'["'2%??
3. % 3 + A
4. v 3ATT + 3caA

Question Number : 83 Question Id : 54592740888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MEeiEd Uy #, I [ddeul # &/, 39 [dheT &7 I e ST TohdT & A
dTelT gl [hehey gl

# GTHe 91 Tl

Options:

1. v Qeieptielch TshaT
2. * LU TohaT

3. % YT FohaT
4. % qicmlietds shdT

Question Number : 83 Question Id : 54592740888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
S fopar & g arem gar [dhed &l

H TR @r T

Options:

1. v YdehlTelsh TohdT
2. = UIOTTSeR TordT
3. = dATHIIT TR
4.

« dTcehTToler TerdT

Question Number : 84 Question Id : 54592740889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEeiEd Uy #, I ddedl # ¥, 39 [ddheT ST T3 B2 Sl AT & 9

ATelT Aot gl

SATUT & < &7 GBd 3l

Options:

1. * Gr-THG



2. * AT UTeATT aT<reh
3. * MTET g=ITaTId

4. v TUTdTh

Question Number : 84 Question Id : 54592740889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
St faeyor & $g grermr e &l

ST9Tel & TaET o9 BT &

1. = gEATH®
2. » ToTead INATT dT<ih

3. % ToTedd TEIERH

4. v J0TdI<I<h
o

Question Number : 85 Question Id : 54592740890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTead uy #, IR aeul § T, 39 [Adey & ad= & S 1T M7 9
& T e BT YgI Tddey g1 gl

ST

Options:

1. v GieIA=T
2. % TervTerd
3. « AT

4. % 19T

Question Number : 85 Question Id : 54592740890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST 20 710 o o UITIaT esg T &l [ahedT oTal &l

ToTal

Options:

1. v Glerf@Asr
2. » Temadr
3. = IITAAT

4, = farer

Question Number : 86 Question Id : 54592740891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fylerad vy §, IR aeul § ¥, 39 e &r Ig= &2 St 1aT T e
T Ggt YIdGATAZTL D e, BT Tdhed gl

(Al

Options:

1. *» &udh
2. v dY
3. = T
4, = TeT

Question Number : 86 Question Id : 54592740891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S f&T a0 oreg T AT gﬁw@rmﬂch oTec T Tdhed &

cdr

e

Options:



1. = 9
2. v &Y
3. % qrT
4. = garey

Question Number : 87 Question Id : 54592740892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeiTed U #, IR [Aadetl § ¥, 39 9§ dded &l T+ a5 hisd A
o T sree; T WEY e g

T o TR a9 (o11)]

Options:

1. » @ar
2. % 3%
3. v UdmsT
4, » gdTs

Question Number : 87 Question Id : 54592740892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafel@a wesT &, I) @reul & &, 39 T2 TFheq FT T
F Sl RIseh A fGU 910 efeg &1 @gr Aehew &l

STalel o AT &4 (oD |

Options:

1. % Z3T
2. % 3018
3. v Thar
4. » §dTS



Question Number : 88 Question Id : 54592740893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTorad 77 #, IR ool § 9, 39 oo @7 od oY 511 [, e, T
gl fadmeT 3l

Options:

1. v 3MTeed
2. % 3T
3. * 3Ed
4, % 3T

Question Number : 88 Question Id : 54592740893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST eg ereg T TP faked &

Options:

1. v 3dead

2. % 3Tece
3. % 3ecel
4. % 3ScaT

Question Number : 89 Question Id : 54592740894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, IR Aaeul § ¥, 39 [OdeT & ad= & S 70 M7 9
o [T Tger SIec; T oId 38T [ddhe gl

Options:

1. * ATATA
2. % ATd

3. = ATAT3M
4. v ATTY



Question Number : 89 Question Id : 54592740894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST 20 90 orsg o TOIU S@adel o1sg &l Ted 37T [d%hed &l
o

HTAT

Options:

1. » AR
2. % AT

3. = AT
4. v HATAQ

Question Number : 90 Question Id : 54592740895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiEd Uy #, I ddedl # ¥, 39 [dded ST I B Sl hisd # T
T 96 & ATER AT T2V eTeh FAATH BT JaId 30T [ddhed gl

Options:

1. v (Ig ) Tog=r @i am?

2. % (¥) 9gd <& gl

3. % ( 31T ) T ATAY H T TE BIH A hieh T gl
4, % (W) TpdT AT g1 Y AT 7T BN

Question Number : 90 Question Id : 54592740895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST kIS H G0 90 oreg F IR 3T ToY qraeh HAeTH

T a8 3<HT [dhed &

Options:

1. v ( I8 ) Torge Alam ar?
2. » (#) 9ga =T €l




3. % ( 3T ) oer Ifelw H Teh ST FTH TcH FHleh 3Tl él
4. = (A ) TREr o 1T Fr =T AT FO

Question Number : 91 Question Id : 54592740896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTad Usf ¥, IR Tddedl § 9, 39 Tdhed B T B ST Y, AT Bl
ged 31TOT [ddeT gl

Options:

1. * ¥ T B HEIT BT gl
2. v ¥ TR T 3IVATY BT gl
3. % ¥ T T <tk Y TG &
4. % ¥ 1T T <ITATH AT Z

Question Number : 91 Question Id : 54592740896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
S UL ATFT F oy 3T Ao &

Options:

1. = # M ST FET FIT gl
2. v # e FT I FIAT E|
3. = 3 aTme T iR KT TET
4. » # IMa FT A FIAT g

Question Number : 92 Question Id : 54592740897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdhe B TaT B ST Y AT P
e d 31TOT [ddeT gl

Options:

1. v 7 ¥ UGl BT 8T I gt Ygramm g gl
2. * o # YTl DI T agd gt Ggram gt gl
3. * o T YTd:lel X 39T Sgd & GgIa=T giar gl




4. % o DI UTd:2DTel DT 39T Tgd gl Ggra-T gidr gl

Question Number : 92 Question Id : 54592740897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST g qIFT T T TSI fdhed g

Options:

1. v G & ATl HT T dgd & FEaall gl gl
2. ® ga H YISl FT TF Tgd & Feraan gl ¢l
3. % Tal T WTd:hTel T T2 agﬁé’r HeraaT gidr &
4. % G I YIT:HTST T Y Tgd o Feraar gl &

Question Number : 93 Question Id : 54592740898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl T #, IR Tddedl § ¥, 39 [ddhey Bl o2+ e ST [0 g
Ieh STy T Fg! Terhed gl

Options:

1. » STASSH TIIS, 7 Pl § SiaT 1% Dl U gl

2. v SIADH YIS, = Pgl g - "Sita farseg df Fuid gl”
3. * TTYR YIS, A gl g ; "Sie farse i Juid gl”
4, » SYSE YGIE, 7 Dgl 3 "Siie [asg df uid g2

Question Number : 93 Question Id : 54592740898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST fere Rger god a1 g F1 T fahed &

Options:

1. = STILTRT VOIS of gl & SAdel [9ed hl Ul gl
2. v SIS YIS o hal § - "Siigd faeg &1 gulcad g1
3. % SIYARY VHIG o el & "Sgel f9eg &1 duica &1"




4. = SILHRT UG o Fal & "Shger [Feg Fr gufca 2"

Question Number : 94 Question Id : 54592740899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fgierad U ¥, IR [Aaeul § 9, 39 fadhed & o2+ o 1 1T T ggTer
T TET 37 ATeAT TIheT gl

g T -
1.%qcraf;—{é‘=m

2. % 39 I

3. v gL W 3 g

4, = {9 TGATI

Question Number : 94 Question Id : 54592740899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST fU 10 FgTey T TEr 37 arelr fasheq ¥

Hg dThall -

Options:

1. % T FT |
2. = 319 &larl
3. v gEY 9T AT glel

4. = Hld THAT|

Question Number : 95 Question Id : 54592740900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FYeirad Uy #, IR Tddell § ¥, 39 [ddhed &7 Id= & 11 &f TS Aldhiih
T T 37 ATelT ey gl

Options:

1. » Te@TAT HLATI

2. % ThdT &l T TS 3T BT
3. * Teld A

4, v IE T Bl I AT

Question Number : 95 Question Id : 54592740900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
ST 3T 92 SARITod T Fal 3T arer [dshed &

Options:

1. = TSETET FILaAT
2. % TRAT T FTH HI5 3T FLaTI

3. # dTold <hlH

4. v SIET T AT B ST

Sub-Section Number: 2
Sub-Section 1d: 5459272431
Question Shuffling Allowed : Yes

Question Id : 54592740901 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

QQuestion Label : Comprehension



S TWENS Bl T Yeeh U¢ A IR el § ¥ Yol T Bl Fellad JtT

Gl

IR FHR el T & Tl 3 Dlel  TgT 7T gl A ATST S W gt

¢ g Tt ao, STgT €xar 3R 3ITPhIY §H Held 16@TS & g | elid ST
gH agl Ugad g, al Ig TR AT RAGhdT aell SITaT g | 3R 39 TR &
15 M-V gH g1 [C@TS AT g | Sidh ST a¥g GART Site Wl g1 Foragit
&Y T ST Tohe=it STATT & SIT T 8, elich Pis HT ITAT YUT Tg1 AT 1S,
FgiTch o1 T < S+ U4 3 Th hls Wi STAT 39 T Y g The g1 diadt
| IS QAT STerT I e Geil ThdTel AT &, 3T T HE AT o Tob gt
Sl @l GAT €T & S T g 3l Tg ATYAT g MY Rg I 9T q
DRI TCATAT 3, IUT aXg ¥ gH A ATFA-SITd ¥ FaAL Sitel Bl BT F FEhRT
TERTTenT 375 ST o Telq T 3rerge 3T AT | &L &SI & g Dl O

4 IST IR AT UTT B T31 g1 FhalT |

Sub questions

Question Number : 96 Question Id : 54592740902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITATT gH T FeATar 82

Options:

1. * GrI-Grer TF= a1 LT
2. v 9T § GEPR BT ATHTET
3. * YAHIT T P BT ATUG

4. % TYT B AT a4

Question Number : 97 Question Id : 54592740903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g dgd AT =TT I T 14 &, Are?

1.« Rt o A
2. « Rt B R gt 23
3. v Rt i S T IR A 2




4, * T4t ¥ GeAHT Td gl

Question Number : 98 Question Id : 54592740904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1S T = Sitee dt 3UAT fhgd & 37

Options:

1. v Geoll (& &

2. % FHT Sitell

3.« @A 9

4, % oI ST I & &

Question Number : 99 Question Id : 54592740905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STH I DI - GT 1GTaT o1 Fgr 3 g2

Options:

1. * STET &RAT 37} SITHILT UY-UTY §id 8l

2. » STgT qeb AT TS U Bl

3. * S ¥ YAl 377 STPIer @S Usdl

4. v ST T 3R AT el gU f@ms &d 2l

Question Number : 100 Question Id : 54592740906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 31O, A DS IJuYh ATid-

Options:
1. * Goll Tharer
2. % ggPpr Sid4

3. v Sl A9 &7 §h

4, % A S

Question Id : 54592740901 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



S AT 1 ATAYAh T¢ T AR Thedl H & Tcdsh U

T HalcdH 3ol t_lﬁl

ART T aATel T F dol 3eTd shiel & IEAT AT &1 &H

M it W & & & fafaer ook, S8l adr 31 3ierrer g/
firerd femrs 2a & | AfheT oi9 &\ F@l wgad € & Ig AeR
e EERdr TeT SraTr & | 3R 36 SR & $his I8N &H

39 W @ g Whe T8l ST | dals eI Siigel kI Uk Zell
fordTa AT o, 3T I8 AT ATaad 4 T @T gl s GATT &9
q Silel T eh §| Tg AT 6H o0 g § 919 & BeahnT
feormar &, 387 g & g8 oY Ag-ofad 8 5o Siay r 5T &
BLEN fdemrT 3og Silet & Tolv X7 3E8 a1 =Mev | gEl
¥ Sle F &F F1 Sida § 3T AW AT 91T FS AT 81
Hehdl |

Sub questions

Question Number : 96 Question Id : 54592740902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT &8 a7 fgerrar &2

Options:

1. = QIY-ATY @ T 3

2. v 91T ¥ PEHR T AT
3. » ATAIT o Fla FT B




4. = T&IT Flel AT TAal

Question Number : 97 Question Id : 54592740903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

§H Sgd 8T 3T I Bd &, I

Options:

1. = fET T o o &

2. % TopAT &I Rhar FAET 2

3. v T&dT &I Jia T JATTFR T6l 2|
4. = TR & 2@ TEd B

Question Number : 98 Question Id : 54592740904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATS 2T o Sidel hr 39AT fohad & £7

Options:

1. v Zhell T&Tsh &

2. = g1 Siar

3. « fafas &/

4. « TEI ST T& qEcdh &

Question Number : 99 Question Id : 54592740905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SoaH § Hid - 1 T&fasr &1 Far 3 g7

Options:

1. % SIgI €dr 3T 3pTer 9rE-9F & &1

2. = &I d&h o¥dr RR@EmE usdr &

3. = SI@l § oar AN 3eerer fG@g 9sq|

4. v STET el 3 smEAT fe gv femnd &

Question Number : 100 Question Id : 54592740906 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

38 HATde I hI5 IUTF fieh-

Options:

[t

£
. % dell Terdld
)

. % &Rl Sdd
. v Sgd Sl &7 &§h
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Disciplinel
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Group Id : 5459272026
Group Maximum Duration : 0
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Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
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Question Shuffling Allowed :

Yes

Question Number : 101 Question Id : 54592740907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who compared society with biological organism?



Options:

1. v Herbert Spencer
2. » Auguste Comte
3. » Karl Marx

4. = Saint Simone

Question Number : 101 Question 1d : 54592740907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%Hﬁﬁﬁmﬁmﬁwéﬁ?ﬁﬁﬁ&ﬁ?

Options:

1. v B¢ TUOT

2. % 3TEC hiAC
3. % hTol HATFY

4. = He AN

Question Number : 102 Question Id : 54592740908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“The sum total of social relations which human beings
establish among themselves in the production of their
material lives.” is defined under which of the following
concepts?

Options:

1. v Relations of production

2. = Forces of production
3. = Mode of production
4. = Asiatic mode of production

Question Number : 102 Question Id : 54592740908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



"maﬁmwﬁw?wﬁ?mﬁmqﬁm
H 3aoh HiTder Sdel &7 AT i 1" Tolea el fohg
ITUNROT & a9 IEdT 87

Options:

1. v 3cUTEa o Hee

2. % 3Gl o ol

3. * 3cUIGel T LRI

4, = 3cUTee T URETS ddienm

Question Number : 103 Question 1d : 54592740909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bruno Bettelheim is strong support of which among the
following theories?

Options:

1. v Collective childrearing

2. » Women’s liberation movement
3. = Biology and the 'expressive’ female
4. = Theory of the emergence of gender identity

Question Number : 103 Question Id : 54592740909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el ScdergisA fara Aaral # & forgehT Al @ A«
AT &7

Options:

1. v gHEF Hdlellcdicd
2. * Higell i 3felelel
3. = S@dArT 3T 3T Algen

4. = TOET ATHATT & 3£d HT1 DG




Question Number : 104 Question Id : 54592740910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to theory of the emergence of gender identity by
Sigmund Freud, everyone passes through how many stages of
psychosexual development in their life?

Options:

1. = Three
2. % Four
3. v Five
4. = Eight

Question Number : 104 Question 1d : 54592740910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faerAE wrIs garT ufauriea feler stffare & 359 & g &
3TN, L ST 3701 Silael # Helldallieieh dehre & fehctel
IO & AT 87

Options:

1. = drel
2. x AN

3. v 9T
4. = S

Question Number : 105 Question Id : 54592740911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following sociologists conceives social
development as a "process of planned soclal change designed
to promote the well-being of the population as a whole in
conjunction with a dynamic process of economic
development™?

Options:

1. v James Midgley



2. = Lione] Tiger
3. x Robin Fox
4. = Talcott Parsons

Question Number : 105 Question Id : 54592740911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeaa TATSTETar & & hid AT HATSTATEAT HIHAT TR
faerrg oY "3feer Berrg 1 v arfaeiier ufshar & @rer-ary,
MTH LN hl HATs T FeIdT ol & oIV FdATs I8 ATHIoT
gfade #T Ufshar & &7 F AleIdr dr &7

Options:

1. v SI&T TA=Ten
2. = Toldleel el
3. % JIToleT BT

4. = &ohic Yr8«d

Question Number : 106 Question 1d : 54592740912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

___Is a composite statistic used to rank countries by level
of human development’ and separate ‘very high human
development’, ‘high human development’, ‘medium human
development’, and ‘low human development’ countries.

Options:

1. v Human Development Index

2. » Gross Domestic Product

3. » Millennium Development Goals
4. » Human Development Report

Question Number : 106 Question 1d : 54592740912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT R & T & YT W 32T & gl 2o 37
TE 3T eI faerrer, '3T Aeg [, 'HEIH HATed
A 3 ‘ol ATl s’ gt 42l 1 gelierd hlal 1
Ush THI TIETRT 39T &l

Options:

1. v AlelT fehE =T

2. % ol u'icg 3ICYIE,

3. = THollagA Tahr T oey
4. « AT TR 9T

Question Number : 107 Question Id : 54592740913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“In all complex societies, the total stock of valued goods is
distributed unequally, with the most privileged individuals
and families enjoying a disproportionate share of income,
power and other valued resources.” This is a definition of

Options:

1. v social stratification

2. » cultural stratification
3. = economic stratification
4. = rational stratification

Question Number : 107 Question 1d : 54592740913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"gT ST FHATST H, HeddTel d{-gljdﬁ hT el AT T IHATS

Bayor grar &, ogd fdwmer oW urea saeaay 3T

IRART T 313, i AR 3 Hedale TATLAT T HFATAF
T § 3T fowar Foar &' I8 hT TN &



Options:

1. v HTAToR TR

2. « HIERIceh TaLreRIo]
3. = TR TaLIRo
4. = Taaelier saiRo

Question Number : 108 Question Id : 54592740914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The process by which individuals and groups are ranked in a
more or less enduring hierarchy of status is known as:

Options:

1. = soclal inequality
2. v stratification

3. = soclety

4, = family

Question Number : 108 Question Id : 54592740914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g8 ufehar o garr safeadt iR wagh = ufa & 31fds
AT FH TART YeTofhd H AT foham SITelm &, Fgermm &:

Options:

1. = HIHAToIh JHATA
2. v TALRIOT
3. * HATSA
4, = TEN

Question Number : 109 Question Id : 54592740915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Davis and Moore formulated a functional theory of
stratification in the year:

Options:




1.~ 1945
2. % 1948
3. = 1950
4. = 1955

Question Number : 109 Question Id : 54592740915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sfaw 3T AT o, TohE el A THIOT T Tk FRITcAS G
gfaaiied forar am:

Options:

1. v 1945
2. = 1948
3. = 19580
4. = 19585

Question Number : 110 Question Id : 54592740916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who contributed ‘concept of bureaucracy’ and ‘concepts of
power and authority’ in an organisational sociology?

Options:

1. = Karl Marx

2. = Herbert Spencer
3. = Auguste Comte
4. v Max Weber

Question Number : 110 Question Id : 54592740916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TITSITcHS THTSIMET & &89 H 'FlRIemar sl 3a@aRo 3T
'‘FeaT AT ITIRR T JITIROT F T H A0S SoT T AT
rgeRr STaT &7

Options:

1. = hTel HTFH
2. = BEC THET
3. * 37 A
4. v g AT

Question Number : 111 Question Id : 54592740917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Monasteries fall under which of the following compliance
systems?

Options:

1. = Coercive compliance system

2. = Utilitarian compliance system
3. v Normative compliance system
4. = Functionalist sociology

Question Number : 111 Question Id : 54592740917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

7S, el # @ fhg 3ieqarelst YoTell & d&d 3 87

Options:

1.waﬁaﬁm§mﬂawﬁ
2. = YRS e]dTelel JOTI

3. v HIATH 3TedTels TOTTell

4. % TohdTcHS THTTE



Question Number : 112 Question Id : 54592740918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Amital Etzioni, which among the following
compliance systems alienated lower level participants (i.e.
prisoners), who are reluctant members and is governed by
force?

Options:

1. v Coercive compliance system
2. » Utilitarian compliance system
3. * Normative compliance system
4. = Functionalist sociology

Question Number : 112 Question Id : 54592740918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT vfer el & 3R, far 3equrees yonferal # & i
T, foel T & wiasnEat (rata Sy anfe) s & 31w

ARIERT oTar fasrd § 3fT Serqas enfad gid &, ST 37eler-27em]
T T &7

Options:

1. v gy 3feTaTele TOTTolT

2. « 3gQEIaaTer 3feTqTelet TUTToll
3. * WA 3fedTels TOTToIT
4.

« ToRdTcHR HHTSTLE

Question Number : 113 Question 1d : 54592740919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT an objective given by
Friedlander?

Options:

1. = To change in painful situation of individuals



2. = To develop the constructive forces both within and
around the individual

3. * To enhance the democratic and humanistic behavior of
the individual

4. v To provide physical or material support

Question Number : 113 Question 1d : 54592740919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfaf@a & & i @7 hgelsy gaRT gd1v 3T 32T &
nfAer 7T &7

Options:

1. % NI hT ZgaTeh EATIAT I TSoTaAT

2. STFd & AL 3R dET el 3T T™eATcHS dlehdl hl
fafaa s

3. = TTod o ollehdldeh 3 ATAGIIGRT SUdal &l Salell
4. v AR I1 3R TEIET U el

Question Number : 114 Question Id : 54592740920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which among the following is the major difference between
soclal reform and social work?

Options:

1. v Social work is a profession, with all the professional
characteristics while social reform is a voluntary activity with
human instinct.

2. = Both the concepts have stemmed from the idea of
promoting human happiness by reducing sufferings.

3. » They are based on humanitarian values.



4. = Most of the social reformers are often identified as social
workers.

Question Number : 114 Question Id : 54592740920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATTS GUR 3N GATSIR R & §e 978 3ol §7?

Options:

1. v TTATTSR 1A Tk UM &, ogH THT deay [evare B
ST &, STefeh HTHTGR JUR AT Ygicd & He[®T I STl
grell Teh TdTesesh g &l

2. » T el ITYRUNMT HATAG ATT T hSC hH wla 3T
Tealdl Sola & O & 39T &

3. » ¥ ARAY Hedl W AR B

4. = 3TARTT TATST FURHT I HFA AT TR HRIRAIT F
FT H & USATT AT &

Question Number : 115 Question 1d : 54592740921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the categorisation, offered by Karel Vasak, there are
generations of human rights.

Options:

1. = two
2. v three
3. = four
4. = five

Question Number : 115 Question Id : 54592740921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

h¥el AR ZaRT U a0 FElfehdoT & 3R, AlAd TIHRT
ST difedr gidar Bl

Options:




1. = &

2. v dred
3. = I
4, = 9T

Question Number : 116 Question 1d : 54592740922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Mental Health Act came in force in the year:

Options:

1. = 1992
2. v 1987
3. = 1995
4. = 1991

Question Number : 116 Question 1d : 54592740922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T2 TATIH (Aol ged Uae) fohd FTel H oM9]
ST o
0

Options:

1. = 1992
2. v 1987
3. = 1985
4. = 1997

Question Number : 117 Question Id : 54592740923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following should NOT be undertaken for
the preadolescent mentally retarded children?

Options:

1. = Speech training



2. v Horticulture training
3. = Habit formation
4. = Sense training

Question Number : 117 Question Id : 54592740923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafelT&T # T i TT U AR &9 & gAfed Sl
T gl T Srer arfge?

Options:

1. = HTYOT giereror
2. v WETdTall WTRIETor
3. = 3Ed forATor
4. = HAGAT YTAETOT

Question Number : 118 Question 1d : 54592740924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was community development programme introduced
in India?

Options:

1.~ 1952
2. % 1955
3. = 1951
4. = 1962

Question Number : 118 Question Id : 54592740924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁﬂﬂaﬁ?ﬁwmﬁmaﬁﬁﬂxﬁwnmm

Options:

1. v 1952
2. % 1955



3. = 1957
4. = 1962

Question Number : 119 Question Id : 54592740925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is an example of community
development programme?

Options:

1. » Mudra Yojana
2. v Panchayat

3. = Mission Mangal
4. = Demonetisation

Question Number : 119 Question Id : 54592740925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & @ &l a1 AR+ [AF FRRA FT T
3ETEI0T &7

Options:

1. = Tl roTe]

2. v g
3. = TR HITT
4.wﬁgﬁww

Question Number : 120 Question Id : 54592740926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The key purpose of is to build communities based on
justice, equality and mutual respect.
Options:

1. = 5 year plan
2. = rural development



3. v community development
4. = co-operatives

Question Number : 120 Question Id : 54592740926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

_ T AT 3RF O, AT 3R IO TEAT W)
34T%1Tﬁ—cr mqam’r FT TTATOT FLT &

-Ei?IEI"ﬁ?FEﬂGITrIT
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Sub-Section Number: 1
Sub-Section 1d: 5459272433
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 54592740927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT a theory of urban growth?

Options:

1. » Concentric zone model
2. » Sectors model

3. = Multiple nuclel model
4. v Single nuclel model

Question Number : 121 Question Id : 54592740927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafaa & @ wia ar o5l o w1 Raa 780 &2

Options:

1. = Hlhlogd UdET

2. = faemer yfasy

3. * URITgeh aATER Taeq
4. v Uahdl ATTHE AT

Question Number : 122 Question Id : 54592740928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Burgess, an urban area consists of how many
concentric zones which represent areas of functional
differentiation and expand rapidly from the Justness centre?

Options:

1. » Three
2. # Four
3. v Five
4. = Six

Question Number : 122 Question Id : 54592740928 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

FifE % 31w, ford oedl & 7 W forae Ehfea a7 8 §
ST FRITcHS ATHTT & &3 &l [@wud #a & 3T 3
Fogr & dig aifa & [BeaRa sa &7

Options:

1. = dlal
2. x AN

3. v U
4. « BE

Question Number : 123 Question Id : 54592740929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has developed ‘Multiple Nuclei Model” of urban growth?

Options:

1. » Ernest Burgess

2. * Homor Hyot

3. v Chauncy Harris and Edward L Ullaman
4, = Walter Firey

Question Number : 123 Question Id : 54592740929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MELT TR T "HedITel sgferel UTA®T IT VehIfeh ATTH
afee fhee Taenfad fhar?

Options:

1. » 3feiee w3fg
2. » AL I
3. v Ticar R 3t vsas var A
4. = dleey Y

Question Number : 124 Question Id : 54592740930 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Who has developed 'Symbolic Approach Model’ of urban
growth?

Options:

1. » Ernest Burgess

2. » Homor Hyot

3. » Chauncy Harris and Edward L Ullaman
4. v Walter Firey

Question Number : 124 Question Id : 54592740930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eTENT TR T THaTolleh TISChIUT Uiaed Tohda Ahiad far?

Options:

1. % 3oiee &
2. » AT AT
3. = diedl & 3T USa8 Tl 3olATd
4. v greey Y

Question Number : 125 Question Id : 54592740931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

___upholds the principle that all men are entitled to fulfill
the basic human needs, regardless of superficial differences
such as economic disparity, disparity based on class, caste,
gender, religion, citizenship, disability etc.

Options:

1. = Social work

2. v Social justice

3. = Social reform

4. = Social well being

Question Number : 125 Question Id : 54592740931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ATHATTO T
2. v TIHATSR =1

3. = HIHTSH TR

4.&%@3@3&

Question Number : 126 Question Id : 54592740932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which community in India was mainly affected by
untouchability?

Options:

1. * Brahmins

2. = Kshatriyas
3. v Schedule castes
4. = Purohits

Question Number : 126 Question Id : 54592740932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H 3TEGRAAT § AT & F YA THET AT?

Options:




Question Number : 127 Question Id : 54592740933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is an example of social injustice
towards children?

Options:

1. = Poverty

2. v Child labour

3. = Gender discrimination
4. » Bonded labour

Question Number : 127 Question Id : 54592740933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arae@a & & Sl 9T gl & 9fa ATHESR AT T Tk
3ETEY0T &7

Options:

1. = IS
2. v ®Tel HH
3. % olfeTh ATHT

4. = FY3T AT

Question Number : 128 Question Id : 54592740934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is a NEGATIVE indicator of social
development?

Options:

1. * Elimination of poverty

2. = Expansion of education
3. v Decreasing in the level of employment
4. = Protection and improvement of health

Question Number : 128 Question Id : 54592740934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafe™@a # @ i @1 AR AR FT Th Thdsh &7

Options:

1. = INTET geraT

2. = T8I T fOEdR

3. v TSI & TAT H FAT

4. « TATELT HT FIET I 307 U

Question Number : 129 Question 1d : 54592740935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has defined social development ‘as a process of bringing
about totality of the socio-economic, political, social and
cultural development of the society’?

Options:

1. v MS Gore

2. = UNO

3. » Walter Firey
4. » Ernest Burgess

Question Number : 129 Question Id : 54592740935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GATST H HHATSIeh-31TT, Teleliceh, AT 3 HEh s
aerrg T GHIAT AT T UTshdAT THATGH [Ahrd & FTHTOTH
e 1 3o gfvamr Faa &

Options:

1. v TATH 9T
2. = UNO

3. = dTeer TR
4, = 3ot wIfd




Question Number : 130 Question Id : 54592740936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Louis Wirth, which among the following are the
three fundamental features of a city?

Options:

1. * Modernisation, population size and gender ratio
2. v Population size, density and heterogeneity

3. » Population size, density and Homogeneity

4. = Area, population size and gender ratio

Question Number : 130 Question Id : 54592740936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

q& Rt & seEw, et # @ P @ G o & e
Hifer RreaTe §7

1. % 3TTeIhTeRI0T, STEEEAT T 3R I Tolar 3egare
2. v STEEIT T MR, Hoca MR iayar

3. * STEEIT T MR, Hoca M TAFIAT

4. « G, SHEAT T 3R AT FoT 3reyure

Question Number : 131 Question Id : 54592740937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Urbanity and size of community is correlated in urban
community.

Options:

1. v positively
2. = negatively
3. = vaguely
4. = slightly

Question Number : 131 Question Id : 54592740937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ul THEN A THEH & 3R IR gdieor & s
qggeg aidr &

Options:

1. v HFHIcHh

2. % dhLIcHSR
3. = MTaread
4. = TR

Question Number : 132 Question Id : 54592740938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The substantive issues of contemporary political sociology fall
into how many major areas?

Options:

1. = Four
2. » Five
3. v SIx
4. = Eight

Question Number : 132 Question Id : 54592740938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
L

THbToll IMoTolicih AT hi Hel FHATATT HI fhela THz
g7 # fowfara oRar = &7
Options:

1. = T

2. % U
3. v BF
4. = S

Question Number : 133 Question Id : 54592740939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



According to the modes of orientation, Weber has talk about
four types of social action. Which among the following does
NOT represent weber’s social action?

Options:

1. = Rational action with reference to goals
2. » Rational action with reference to values
3. = Affective action

4. v Modern action

Question Number : 133 Question Id : 54592740939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & HIFT F AR, o @ IR TRR T AATSTH
FRIGIEAT FT guled foraT & i@ & @ & I g

Options:

1. = o&TT & HeH H Tadeheiler hREmE!
2. = Aol & FeH H TadsheiTel R
3. = WHTAT HIaral
4.%%@3‘@

Question Number : 134 Question Id : 54592740940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

_______1nvolves the individual who considers ends, and on
some systematic basis decide what is the best means or course
of action to pursue in order to achieve these ends. This form
of rationality can considered to be pragmatic in that it
provides individuals with a way of pursuing practical ends.

Options:

1. v Practical rationality
2. » Theoretical rationality



3. = Substantive rationality
4. = Formal rationality

Question Number : 134 Question Id : 54592740940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H 37 sTFaar T enfHer forar STaTr § S 3T &7
fegor e &, 3 =gayd 3R W o ofd & T a0
Al I UTed el & o0 FRIGET e T T899 3THT GTeleT
IT JLIRT i AT &M TaReTodr & 39 & &I IGETNH

ATl ST Fehcll § <qfoh IE& SYTIGINh 37l I 3ET SGle 1 Teh

RIeRT WETeT Ial &l

Options:

1. v SOIa@nyeh Tadereirerdr
2. » &gl Tadeheirerar
3. = FAifelr Tadsrefterar
4, = 3T [Aaepeierdr

Question Number : 135 Question Id : 54592740941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the United Nations Universal Declaration of
Human Rights (UDHR) states, “All human beings are born free
and equal in dignity and rights. They are endowed with
reason and conscience and should act towards one another in
a spirit of brotherhood.”?

Options:

1. = Article 15
2. v Article 1
3. = Article 5
4. = Article 35




Question Number : 135 Question 1d : 54592740941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIYFT Teg Yot [SeFellers 3™ egAe Used (UDHR)
forr 3feeade & afoid § T, “Tef A @FATe 3T 3Rt
o Hed H 3elg 3T AT Yer 8id &1 So T3l # dh 3N
faasr T &7aaT gIAr &, IUT S T Y ARAR & HqEeT §

IEAT IOIev]|”
Options:

1. % aﬂfaa‘c: 15
2. v 3TEOE |
3. % aﬂfa‘c: 5
4. % H@ﬁ—c{ 35

Question Number : 136 Question Id : 54592740942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT a fundamental right
enshrined in the constitution of India and is also not coming
under the human right?

Options:

1. = Right to equality

2. = Right to freedom

3. v Right to live In any art of the country
4. = Right against exploitation

Question Number : 136 Question 1d : 54592740942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A& T # @ id T o I AR AT & dad Yecd
FAiforer MfORR ¢ 3w 7 & Aeag FMOFRT & daga 37Tar &7

Options:




« HTAAT T ATIFT

x FIAAT T ITARR

der T Tordl o 1T & g aTdeT da T TUFR
« eNYUT & TEellth TR

Question Number : 137 Question 1d : 54592740943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Compensation in cash or kind for death, partial or total
disability and occupational diseases and other benefits like
Sickness benefits, Disablement benefits, Dependents benefits,
Medical benefits and Maternity benefits are covered under
which act of Indian constitution?

Options:

1. = Employees State Insurance Act

ol
<

2. v Workmen Compensation Act

3. » Employees Provident Fund and Miscellaneous Provision
Act

4. = Employees Pension Scheme

Question Number : 137 Question Id : 54592740943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Acg, JRF AT QU7 fAFemerdar 3R srEaari&s WM & gl W
sTehe AT fRdT d¥g 1 &Tfdqfa 3R 3 o1 S8 START ofTH,

TR elaTclT o8, 3T ors, Tafehcdr oimet 3T ATJea ome 37,
AT g & T RAEIH & dgd 3a &7

Options:

1. *= FATRT T aTAT ATATATH
2.J$m?m§maﬁﬁw
3. » hAGRT ATOST AT AN Ty uaua AR«TH




4. » FATRT T Irolall

Question Number : 138 Question Id : 54592740944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the minimum eligibility for payment of gratuity
under ‘Payment of Gratuity Act, 1972’7

Options:

1. v Persons having served for at least 5 years continuously

2. = Persons having served for at least 10 years continuously
3. = Persons having served for at least 15 years continuously
4. = Persons having served for at least 20 years continuously

Question Number : 138 Question Id : 54592740944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'THe 3TH aj?e;ﬁr e, 1972' & dgd a)fe;fr En AT %qj

seTIH AT 4T §7

Options:

1. v 8 8 &7 5 I HT RNIR dar1 73T i Fe aral
STebel oI

2, + HF T FA 10 T HT MR da1 73T I FLe arel
STebel oI

3. * HF & FA 15 T HT RMAR dqa1 AT i FLat arel
STebel oI

4, HF T FA 20 T H FWMIR dqa1 T ¢ FLe arel
STebel oI

Question Number : 139 Question Id : 54592740945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the benefit under ‘The Maternity Benefit Act, 1961°?

Options:

1. v Leave with pay up to 6 months




2. = Leave with pay up to 3 months
3. » Leave with pay up to 9 months
4. = Leave with pay up to 7 months

Question Number : 139 Question Id : 54592740945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HIJed oA TATITA, 1961 & T&d Uacd ot 87

Options:

1. v 6 HGEld &1 Tddleish 3TTehrel

2. % 3 Aglel T ddleleh 3T

3. = O AglA T ddleler 3fTahrer

4, = 7 HEIA kT TddTeleh 3Taehrer

Question Number : 140 Question Id : 54592740946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following schemes is NOT covered under
‘Employees Provident Fund and Miscellaneous Provision Act’?

Options:

1. * Employees Provident Fund Scheme, 1952

2. v Payment of Gratuity Act, 1972

3. » Employees Deposit Linked Insurance Scheme, 1976
4. = Employees Pension Scheme, 1995

Question Number : 140 Question 1d : 54592740946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'FAANT ey AT 3 By umuae s 7 T &
O FlT TT ST TR TaT &7

Options:

1. » FEIRT AT AfT Ar1aT, 1952
2.@mﬁwaﬁﬁw, 1972



3. * HAINT STAT ARG STAT JTar, 1976
4. = HAANT YT Ilaldr, 1995
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Question Number : 141 Question Id : 54592740947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT covered under child
welfare services of social work?

Options:

1. = Daycare centres
2. = Recreational and cultural facilities
3. » Orphanage



4. v Driving schools

Question Number : 141 Question Id : 54592740947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafa & @ wia grafsrer At T sTer Fearor Qarit Fr
ST H 6T T&T ST ohdT &7

Options:

1. = g'—gh{.l{ ';ha'g
2. = Feilolel 3T HERTceh gﬁ%rrtf
3. = 3{dTTel

4. v ZTBTAar TRl

Question Number : 142 Question Id : 54592740948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What characteristic is required in a social worker engaged in
family welfare services?

Options:

1. v Knowledge on human relationship

2. = Financial knowledge
3. = Political knowledge
4. = Soclo-economic knowledge

Question Number : 142 Question Id : 54592740948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IRER Fed1oT TG A FRRT AN FRISRdTl & v
MTaedeh [@etwar §7

Options:

1. v ATAAT & T AT
2. % Tocarg AT

3. = ITolalidehr AT




« OTATTAR-3TTR FATeT

Question Number : 143 Question Id : 54592740949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Greenfield (1969) divides health professionals into four
separate groups. Which among the following is NOT a part of
it?

Options:

1. = The autonomous professionals
2. * The allied health professionals
3. = The allied health technicians
4. v The allied health teachers

Question Number : 143 Question 1d : 54592740949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AeTthres (1969) o FaEey U T TR 3eld-37c1eT HHgI H
s foram ol feafe™a 7 & S a1 Ahed 3o FAg!

o1 feear @il &7

Options:

1. *» T@Rcd Yelay

2. » HEE TARELY Uelay

3. * Hog T dehalT1de]
4. v O8E TaELT Tereeh

Question Number : 144 Question Id : 54592740950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Diseases like cardiovascular diseases, cancer, leprosy,
HIV/AIDS etc. can be classified under:

Options:

1. v chronically ill
2. = physically disabled



3. = psychosomatic disorders
4. = Psychological problems

Question Number : 144 Question Id : 54592740950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&g 9, hav, FT3, UTATSAN/UsT TS o UE™AT I Toleet
AT & HFNT FEfhd fRaAT ST Fehll &

Options:

1. v o8 AT & dTAR
2. % NI T & 3&TH
3. » Hdl-&Egh TR

B ol i *
4. = HAd AT[AR HAFYIT

Question Number : 145 Question Id : 54592740951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the main reason to understand the human behavior?

Options:

1. v Individuals are different

2. = Individuals are alike

3. » Economic development of the country
4. = To cure physical aillments

Question Number : 145 Question Id : 54592740951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATeld SYAEN k1 THHAA FT &I FROT &7

Options:

1. v AT SATFAAT FT ATM-39T BT
2. « §HT =TT T Teh STET Elall
3. » 22T T 3FF G FTar

4, = MR VI s Sollol o [olT




Question Number : 146 Question 1d : 54592740952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which model of behvaiour emphasises the positive and
free-will factors of human beings and uses concepts such as
expectancy, demand and incentive?

Options:

1. = Internal model

2. » Behaviouristic model
3. v Cognitive model

4. = Superstitious model

Question Number : 146 Question Id : 54592740952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T el OT Uasd, ATTar H ThRTcASaT AR Taad
STHT oI el I 3TUh HAScT odl g 3R TR, AET 3N
McdTgeT ST FTURUMAT T 3UIET AT §7

Options:

1. = 3T 9idET
2. » YR Iasq
3. v AcHF UTa&sq
4. = 3rgfdeardr qidsq

Question Number : 147 Question Id : 54592740953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sensing types of person:

Options:

1. v likes an established way of doing things

2. = likes solving new problems
3. = reaches conclusion quickly
4. = frequently makes errors of fact



Question Number : 147 Question 1d : 54592740953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gacaeliel YR & =i

Options:

1. v TRET off F1H &I v TUIUT TH Tk & &7 RaT 8T &
2. = @ ANl T Fol el TG il &

3. % Sfedl @ afdlel W 9§ d &

4. % FAT dLATcHAT IATTAT T S5 &

Question Number : 148 Question Id : 54592740954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Intuitive types of person:

Options:

1. = tends to be good at precise work

2. » seldom makes errors of fact
3. = are patient with routine details
4. v likes solving new problems

Question Number : 148 Question Id : 54592740954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEST YhN & AT Fecgdd sgier:

Options:

1. = FREY HTH T TP alls F T §

2. » FLACHF elfadr F-FIR & FI §

3. * forafad faavol & ary &= & oer a7 &

4. v 7E FAES 3 AT T gor Fe TEHS A B

Question Number : 149 Question Id : 54592740955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what stage of life a person resolves the basic crisis of trust
vs. mistrust?




Options:

1. v Infancy

2. = Early childhood
3. = Play age

4. = School age

Question Number : 149 Question 1d : 54592740955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, Siidel & Tohd TRUT H, Tdad SotH 3H{9eard & He
ke T GHTLTT HldTl &7

Options:
1. v odalld

2. % SAYel

3. = Telal HT 3H

4. % Thel Silel T 3H

Question Number : 150 Question 1d : 54592740956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what stage crisis of the teenage years gains a sense of
identity Rather than to become confused about who you are?

Options:

1. = Infancy

2. = Early childhood
3. = Play age

4. v Adolescence

Question Number : 150 Question Id : 54592740956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forela aNl ol Gohe TohE TIOT H, TR 3HTaT TgdTel &
il 3TEHSTH & Sl Uglel shl Ueh 37efsficl WIee T ofcm &7

Options:




1. = oAdalld
2. % 9l
3. = el T 3
4. v TReIRTaEAT

Question Number : 151 Question 1d : 54592740957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

provided knowledge on administrative applications on
social welfare organisations or a project functioning for social
welfare which is similar to an organisation.

Options:

1. v Social work administration
2. » Public administration

3. = Soclal work application

4. = Soclal projects

Question Number : 151 Question Id : 54592740957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o OHATS HedIuT IS 9T Hegiah aﬂuﬂﬁ?ﬁ a7
HATST FedToT TRATST, ST TRET HISeT & ol U HATT BT
& % T H SATThIAT W&TeT |

Options:

1. v GTHATTSR T TATHA
2. % HAllelch WeTHeT

3. » WIATSR T TyATaT
4, = HIAT GRATSTATHA

Question Number : 152 Question 1d : 54592740958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Who has defined social work administration as
“Administration of social agencies translates the provisions of
social legislation and the aims of private philanthropy and
religious charities into the dynamics of services and benefits
of humanity”?

Options:

1. = Leopard Maya
2. = Arlien Johnson
3. v Friedlander

4. = Stein

Question Number : 152 Question 1d : 54592740958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OTHTTSIoR PR YRSl ahl foided gRETST fohget & "TTAToT
EEATIT T TLATHT ATHTToIeh Flelel & TTTUTAT T TTele]
glafead ear § 3 ared fasll qiusr i aiffdAs 2t #
HATAddT & o & folv 3T a0 Ui e & olT &ela &
30T O HIH LT &7

Options:

1. = o9s AT
2. = 3Tell Slletdel
3. v WIEdsT
4, = T

Question Number : 153 Question Id : 54592740959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT covered under objectives
of social welfare programmes?

Options:

1. = Alleviation of poverty and generating employment




2. = Fighting against the discrimination on the basis of gender,
race, religion, age or disability
3. v Empowering economic stature of the country

4. = Protection of disadvantages people and sections

Question Number : 153 Question 1d : 54592740959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el A 8 8 TATS FoIT0T FRSHAT & 32T & dgd
MTHST sTgT fohdT SATaT &7

Options:

1. % IET FeTalT 3T AR UgT FLar

2. = Tolar, Sfa, &H, 3& AT [Fehaerdr & YR 9 &l 38
AT F e oI5ar

3. v 29T &7 MTYF he Tlel
4. » T2 Ner 3T Fo hY TTETOT ST

Question Number : 154 Question Id : 54592740960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Presently the Government of India has introduced for
speedy administration in state level and central level social
welfare policies / programmes.

Options:

1. ¥ Nitl Aayog
2. » RBI

3. » NGOs

4. = Banks

Question Number : 154 Question 1d : 54592740960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TIATT H RT TR o o 3T T TaT T AT FedIu]
AT / FIRAHAT & caild ddTolel & oW T QrE3fTeT
FT &I

Options:

1. ¢ AT ATIET

2. » YO =G 8 (RBI)
3. » I TIHRT TSl (NGOs)
4. % §fi

Question Number : 155 Question 1d : 54592740961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Hooyman and Kiyak, there are four dimensions
of ageing. Which among the following is NOT one of four?

Options:

1. = Chronoclogical ageing
2. = Biological ageing

3. » Psychological ageing
4. v Economical ageing

Question Number : 155 Question Id : 54592740961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BIIAE 3T U & 3MOR, ot & IR TH 8l E
feaTell@a A & i a1 [Aheq 3 IR IRTAT & nfdHe 8l
&7

Options:

1. % FTellelshid TSIl
M M
2. = Sifdeh FeraT

N ] [
3. % HAId ATlddh cER)




4.J3ﬂ'ﬁjﬂ?w

Question Number : 156 Question Id : 54592740962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Gerontology is derived from Greek words — ‘Geron’ which
means:

Options:

1. = young Man
2. v old Man
3. = play age
4. = school age

Question Number : 156 Question Id : 54592740962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIeClelloll ereq T Icdic Jalloll eeg - ‘SRleT & g‘% &, TSGRt
3T gaT &

Options:

1. = dd Idh
—t

2.$a§r3ﬂaﬁr
3. = Told HTI 3H

4. = Thel ST hT 3

Question Number : 157 Question Id : 54592740963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the scientific investigation of how the thoughts,
feelings and behaviour of individuals are influenced by the
actual, imagined or implied presence of others.

Options:

1. v Social Psychology
2. = Applied Psychometry



3. = Cognitive Psychology
4. = Soclal Anthropology

Question Number : 157 Question Id : 54592740963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH ST bl Ueh JdaATlelsh oI g Toh, o4l o 9K,
HITATY 3 eTGgN gEU HT TEcIiaeh, SHedieeh AT fAfgd
Uity @ T TR & weiad & &

Options:

1. v TGIASS AT AT
wwmﬁﬁ

2.
3. = HATTcHF HAG AT
4.,

« HTHATToTR HTeAdR!

Question Number : 158 Question 1d : 54592740964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT one of the ABCs of social
psychology?

Options:

1. = Affect

2. » Behaviour

3. v Communication
4, = Cognition

Question Number : 158 Question Id : 54592740964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATHIToTh AANA AT sl ABCs # onfde gl &7

Options:

1. % 3theFc IT THTT

2. » TORT99Y a1 =gagnr




3. v mjﬁ?emma’w
4. = RfEsTera AT T

Question Number : 159 Question 1d : 54592740965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In-group bias is the tendency to:

Options:

1. = perform better in a specific group

2. = perform poorly in a specific group

3. #» judge one’s own group more critically than others
4. v favour one's own group above that of others

Question Number : 159 Question 1d : 54592740965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHg 7 YeT gl dTel (F1-99) qaTag 1 ygfeer Blar &

O,

Options:

1. » fafRce Hag 7 decy vexia e &

2. = U Tafese @Ag # B9 vedd R &

3. * 379a HHE T GEU T Jolell H 3HTAH JHTelleellcHS Tk
g 3R &

4. v GEY GHGI T T 3ol HHG T &7 ofd &

Question Number : 160 Question Id : 54592740966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The concept of ‘diffusion of responsibility’ was first proposed
by:

Options:

1. * Lamm & Myers

2. v Darley & Latané
3. » Zimbardo



4, » Fleishman

Question Number : 160 Question Id : 54592740966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THFAGRT T THRT T FTUROT o Tgel Toldet & G@ur
TEATad T 35 o

Options:

1. = ofF 3T A=Y
2. v BTef 3T offed
3. » Tol#aTst

4. = Follerdel

Discipline4
Group Number : 9
Group Id: 5459272029
Group Maximum Duration : 0
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592740967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rahul is a shy boy and generally keeps to himself, but at his
farewell party he sings and dances crazily and leaves
everyone surprised. The behaviour displayed by Rahul is an
example of:

Options:

1. v deindividuation

2. » cognitive dissonance
3. = bystander effect

4. = ethnocentrism

Question Number : 161 Question Id : 54592740967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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« aATellcHF HIHS

2.
3. » Zeter wHE
4. « YSITT higehd]

Question Number : 162 Question 1d : 54592740968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a cognitive behavioral therapy
technique?

Options:

1. = Behavioral experiments



2. v Surveys
3. * Thought records
4. = Imagery based exposure

Question Number : 162 Question Id : 54592740968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafel&T # @ i TT Teh HATdcHS sTdaN 23U dehalleh
sTel 87

1. w'mﬁﬁm

2. v Ha&ur

3. = GRT & MfFcm

4. * FHeUST AT ATl

Question Number : 163 Question 1d : 54592740969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

REBT (Rational emotive behavioral therapy) was developed
by:

Options:

1. v Albert Ellis
2. » Charles Lazarus
3. = Robert Beck
4. = Lewlis Zimbardo

Question Number : 163 Question Id : 54592740969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v 3eac Tl



2. % ATed olToll

3. ® JJ&c¢ S

4. = FAZH S|

Question Number : 164 Question Id : 54592740970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“A single or repeated act or lack of appropriate action
occurring within any relationship where there is an
expectation of trust, which causes harm or distress to an
older person” is the WHO definition of:

Options:

1. = gerontology

2. v elderly abuse

3. = sociology of ageing
4. = gender abuse

Question Number : 164 Question Id : 54592740970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = gEreem
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Question Number : 165 Question Id : 54592740971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The deliberate destruction of older community members 1S
called:

Options:

1. * homicide
2. v senicide

3. = euthanasia
4. = suicide

Question Number : 165 Question 1d : 54592740971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THE & g€ HSTAl I Sggiehl Al & folv oI5 2o &
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Options:

1. = glAaTss
2. v da1a1ss
3. » FTOMACY AT AT
4. % cABAT

Question Number : 166 Question 1d : 54592740972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT a model of social policy?

Options:

1. * The Residual Welfare Model of Social Policy

2. = The Industrial Achievement-Performance Model of Social
Policy

3. » The Institutional Redistributive Model of Social Policy

4. v The economic Welfare Model of Social Policy

Question Number : 166 Question Id : 54592740972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = HTATSTR alfd & JATASE FedT0T GTadwq

2. » WA ailfd T eI 3Taey-ueia afasd
3. » HIATSR aAlfd FT TEART YATAROT FdwT

4. v TIATSIH AT T 3THF FeAToT TawT

Question Number : 167 Question Id : 54592740973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has described three main types of welfare régime /
policy?

Options:

1. = Radcliffe-Brown
2. v Espying-Andersen

3. = Friedman
4. = Hayek

Question Number : 167 Question Id : 54592740973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

cilel AET TR & FeIdURRT @Iar / Afaar &1 auid e
TRaT?

Options:

1. » YSTFelth-ST3al
2. v TUISI-USIHT
3. = hIsHA
4. = g%

Question Number : 168 Question Id : 54592740974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




_laid down in the Indian Constitution state that "the
State shall strive to promote the welfare of the people by
securing and promoting as effectively as it may a social order
in which justice; social, economic and political shall inform
all the institutions of the national life.”

Options:

1. ¥ The Directive Principles of State Policy
2. » Fundamental Rights

3. = Preamble

4. = Fundamental Duties

Question Number : 168 Question 1d : 54592740974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v T dlld & e e
2. = FAifelr FTFR

3. * UEJHT

4. = Fiferd Faey

Question Number : 169 Question Id : 54592740975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

makes social order to disorders facts, system & choices
for economic and social life.

Options:

1. = Social policy



2. » Social planning
3. v Socilal model
4. = Social work

Question Number : 169 Question Id : 54592740975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = GTATSR Al
2. = HIATSSR Tagreted
3. v ISR 9iasq

4. % HIHISIHR F

Question Number : 170 Question 1d : 54592740976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

__model can be conceptualised as a pyramid in which the
bottom of this hierarchy represents basic physiological or
biological needs which are basic to survival such as hunger,
thirst, etc.

Options:

1. v Maslow’s

2. = Equity theory

3. = ERG theory

4. = Two factor theory

Question Number : 170 Question 1d : 54592740976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. * ST &Ed
4. » By FF RBEa

Question Number : 171 Question Id : 54592740977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Focus on the innate, biological causes of motivation like
hormones, neurotransmitters, brain structure (hypothalamus,
limbic system, etc.). For example, hunger, thirst and sex
motives - 1s the definition of:

Options:

1. = psychosocial motives

2. v biological motives
3. = psychological motives
4. = soclal motives

Question Number : 171 Question Id : 54592740977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question 1d : 54592740978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is an example of psychosocial
motives?

Options:

1. = Thirst

2. « Hunger

3. » Sex motives

4. v Curiosity and exploration

Question Number : 172 Question Id : 54592740978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = =18

2. = 8@
3. x FH * FIOT
4, v Toamar 33 3eayor

Question Number : 173 Question Id : 54592740979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following steps is NOT associated with cognitive
restructuring?

Options:

1. = Making identification of your negative thoughts



2. » Challenging the negative thoughts
3. v Identifying positive thoughts and actions
4. = Replace the negative thoughts with more realistic ones

Question Number : 173 Question Id : 54592740979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2. * eRRIcA® et Y Telldl e

3. v OFNIcA® TR 3T FTAT FT T8I Fla
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Question Number : 174 Question Id : 54592740980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an advantage of CBTs?

Options:

1. = CBT is very instructive.
2. » CBTs take shorter time compared to other therapies.
3. » CBTs are more structured than other therapies.

4. v CBT focuses more on feeling better instead of getting
better.

Question Number : 174 Question Id : 54592740980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = CBT s1gvg gidar &
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3. = CBT 3(e 3U=IRT T Jelall H 37k T gl &

4. v CBT &I @l & ol ol AGHH el W 3MF &Te
higd AT &l

Question Number : 175 Question Id : 54592740981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a type of CBT?

Options:

1. v Diabolic behaviour therapy
2. = REBT

3. » Family-focused therapy

4, = Stress inoculation training

Question Number : 175 Question Id : 54592740981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 176 Question 1d : 54592740982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following philosophers is associated with
Nativism perspective of development?

Options:

1. v Gottiried Leibniz
2. * John Locke
3. = George Berkeley



4, « David Hume

Question Number : 176 Question Id : 54592740982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 177 Question Id : 54592740983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A branch of psychology that uses scientific understanding and
effective intervention to aid in the achievement of a
satisfactory life, rather than treating mental illness:

Options:

1. = developmental psychology
2. = soclal psychology

3. = Indian psychology

4. v positive psychology

Question Number : 177 Question Id : 54592740983 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question Id : 54592740984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Stanford Prison Experiment, where people played the role of
a prison guard was setup by

Options:

1. ¥ Philip Zimbardo
2. = John Locke

3. » Albert Ellis

4. = Soloman Ache

Question Number : 178 Question Id : 54592740984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 179 Question Id : 54592740985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thinking that revolves around keeping harmony within a
group through not disagreeing with group opinion/decision
even 1f the decision is suboptimal, is known as

Options:

1. v groupthink




2. = group bias
3. = altruism
4. = scapegoat theory

Question Number : 179 Question Id : 54592740985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question 1d : 54592740986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the correct example of social
diversity?

Options:

1. = Temperamental differences between men and women

2. = Property differences between the two neighbours

3. v Differences of religious belongingness between two groups
4. = Ideological differences between two brothers

Question Number : 180 Question Id : 54592740986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 54592740987 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which among the following is the correct meaning of

diversity?

Options:

1. = Ideological differences between two individuals



2. v Dissimilarities among groups
3. » Similarities among the members of a group
4. = Monetary differences between two individual

Question Number : 181 Question Id : 54592740987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 182 Question Id : 54592740988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the sociclogist who classified the people of India into
seven racial types -(i)Turko-Iranian (ii) Indo-Aryan (iii)
Scytho-Dravidian (iv) Aryo-Dravidian, (v) Mongolo-Dravidian
(vi) Mongoloid (vii) Dravidian

Options:

1. v Herbert Risley
2. * JH Hutton

3. = DN Majumdar
4. = BS Guha

Question Number : 182 Question Id : 54592740988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 183 Question Id : 54592740989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Polytheistic is characteristic of which religion in India?

Options:

1. v Hinduism
2. * Buddhism
3. = Jainism

4, = Christanity

Question Number : 183 Question Id : 54592740989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 54592740990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Broderick and Blewitt identified four categories of
foundational social competencies. Which of the following is
NOT one of them?

Options:

1. = High social self-concept
2. » Cognitive processes

3. v Interactive processes

4. = Affective processes

Question Number : 184 Question Id : 54592740990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 3= AR 3TcH-3TROTT
« HaTelTcHs UTshT

2.
3. v HaEIcHS UlfehdT
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Question Number : 185 Question Id : 54592740991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to an infant’s attachment to a caregiver
serves as the foundation for all future social development.

Options:

1. = Ainsworth

2. v Bowlby
3. = Blehar
4. = Waters



Question Number : 185 Question Id : 54592740991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = Tegay
2. v Sesl
3. = TolgY
4, = ey

Question Number : 186 Question 1d : 54592740992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Learning can be correctly defined by the following attributes:

Options:

1. * Imagination, understanding and realisation

2. = Intuition, practice and experience
3. v Belief, creativity and endurance
4. = Intelligence, understanding and application

Question Number : 186 Question Id : 54592740992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 54592740993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ECCE stands for:

Options:

1. = Extra Care for Child Education

2. » Enhanced Childhood Care and Education
3. = Extended Curriculum for Child Education
4. v Early Childhood Care and Education

Question Number : 187 Question Id : 54592740993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 54592740994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

are the steps that must be taken by administrative
agencies.

Options:

1. ¥ Procedural policies
2. = Functional policies
3. » Material policies
4. = Control policies

Question Number : 188 Question Id : 54592740994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 189 Question 1d : 54592740995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The process of the brain hemispheres becoming specialised to
carry out different functions is called

Options:

1. = localization

2. v lateralization

3. = fine motor skill development
4. = gross motor skill development

Question Number : 189 Question Id : 54592740995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 190 Question Id : 54592740996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Most people have NO memories prior to the age of three, a
phenomenon known as

Options:




1. = autoblographical memory
2. v Infantile amnesia

3. = metacognition

4. = overregularization

Question Number : 190 Question Id : 54592740996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 191 Question Id : 54592740997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person whose gender identity and gender expression align
with sex assigned at birth:

Options:

1. = genderqueer

2. = pregender
3. v cisgender
4. = TGNC

Question Number : 191 Question Id : 54592740997 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question 1d : 54592740998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

refers to discomfort or distress that is associated with a
discrepancy between a person’s gender identity and that
person’s sex assigned at birth.

Options:

1. v Gender dysphoria
2. = Gender assignment
3. » Gender conflict

4. = Gender concept

Question Number : 192 Question Id : 54592740998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 193 Question Id : 54592740999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



One’s sense of oneself as male, female or something else Is
referred as:

Options:

1. v gender identity

2. = gender assignment
3. » CIS gender

4. = gender concept

Question Number : 193 Question 1d : 54592740999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forel cafebd 1 g &1 oifdler &7 & g&Y, HAigelm a7 forell 31

¥ H UgATAAT, 39 dATH & ST AT &

Options:

1. v Tolor AT
2. = TolaT A3+
3. = CIS forar

4. = TelaT TR

Question Number : 194 Question Id : 54592741000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Person-centered theory was proposed by

Options:

1. = Abraham Maslow
2. v Carl Rogers

3. » Gustave Le Bon
4. = Ralph Charell

Question Number : 194 Question Id : 54592741000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question 1d : 54592741001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per Alder’s personality theory, there are four different
psychological types. Which of the following is NOT one of
them?

Options:

1. v Protecting type
2. = Ruling type

3. = Learning type
4. = Avolding type

Question Number : 195 Question Id : 54592741001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UesY & ciodcd fAEld & 38R, TN 3elEl-37e6T Helld Alleish
gia®g &id &1 FaTeli@d & & Shid 91 3d8 & U odal &7

Options:

1. v Wefaed ThrR
2. = Ffeldl TR
3. * offaldl YehI
4. = 3ASET ThR

Question Number : 196 Question Id : 54592741002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




The three methods for developing a unidimensional scale: the
method of equal-appearing intervals, the method of
successive intervals and the method of paired comparisons
are associated with

Options:

1. = Likert scaling

2. » Guttman scaling
3. » Semantic scaling
4. v Thurstone scaling

Question Number : 196 Question 1d : 54592741002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk [AHET 3ATH [TRAT Fla sl diedl QTS GHeed 3ddd
fafer, srffer sicerer fafer 3 Ffewa e fafdr a

Options:

1. = AT Ehieldr
2. = JEHA ThTelT
3. = HiATech Tohieldr
4. v ATl Tohleldr

Question Number : 197 Question Id : 54592741003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

helieved that human beings and other animals perceive
the external world as an organised pattern, NOT as individual
sensations.

Options:

1. v Gestalt psychologists

2. = Structuralism psychologists



3. » Functionalism psychologists
4. = Existentialism psychologists

Question Number : 197 Question Id : 54592741003 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Alelell o7 foF Aevg 3R 377 Sie S8l gferar 1
Ueh TS Udel & §T H & § o Toh cdlFderd HaeaT3l &
& HI
Options:

1. v AEcTec AT ATTART

2. % GIAATAIG HaAld ATlaleh!

3. = ThITcHSOIAIET Halld ATleleh!
4, = TEIcaarcl Hald ATlaien!

Question Number : 198 Question 1d : 54592741004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The period of life immediately following the major changes of
adolescence, usually ranging from the early twenties to the
early thirties may be termed as

Options:

1. v Quarter-life crisis
2. = Mid-life crisis

3. # Juvenile delinquency

4. = Behavioural Dilemma

Question Number : 198 Question Id : 54592741004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feremraeam & gla arel AT aRacsl & qld &
SiTdeTehTel, SIT 3TFET Siidel & @Y &R T YBIHTT T AT
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Options:

1. v FACL-AISH hIsad

2. » AT aEw HEhY
3. = STol 3T
4. = THAGR ZfAYT el

Question Number : 199 Question Id : 54592741005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is one of Rostow’s Stages of economic
growth?

(1) The Traditional Society

(11) The Transitional Society

(111) The Ignition Stage

(1v) The take-off stage

Options:

1. = (1) & (ii) Only

2. = (1) & (1v) Only

3. v (1), (i) & (iv) Only
4. = (1), (i), (iil) & (1v)

Question Number : 199 Question Id : 54592741005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TR Taehred o UEeT & WM A e H & Hlel eMider §7

(1) QYR AT
(1) HhHUTRTolel THTS
(1) STdeTelel 3TEAT
(iv) doh-3Th 3TaeaT
1. = shae (i) 37 (i)

= hael (i) 3T (iv)

3. v Faa (i), (i) 3T (iv)
4. = (i), (i), (i) 3T (iv)

Question Number : 200 Question Id : 54592741006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a process that results in the transformation of social
structures to improve the capacity of a society in order to
fulfill its objectives.

Options:

1. v Social development

2. * Economic development
3. » Social stratification

4. = Soclal justice

Question Number : 200 Question Id : 54592741006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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